BK S:t Erik

Trettondagssilver 2009-01-06

Partavling, 39 bord, 78 par.

Antal brickor: 42. Medel: 1596.2.

Plac Par Poang

1 66  2044.7
2 67 1954.1
3 5 1940.9
4 76 1933.1
5 68  1924.2
6 8 1883.1
7 32 18741
8 14 1859.9
9 24 1830.9
10 38 1830.6
11 34 1825.1
12 20 17947
13 46 1790.1
14 53 1789.9
15 47 1779.9
16 26 17643
17 23 1763.9
18 49 17429
19 19 17421
20 60 1740.1
21 44 1736.9
22 72 1727.1
23 30 1724.6
24 25 17137
25 15 1697.3
26 28 1693.1
27 45 1692.3
28 29 1691.9
29 42 1687.3
30 39 1675.7
31 11 1660.9
32 40  1658.7
33 6 1650.7
34 22 1648.3
35 10 1618.1
36 35 1617.9
37 37 1615.1
38 48  1613.9
39 12 16121
39 58 1612.1
41 59 1607.7
42 77 1607.1
43 73  1585.9
44 18  1549.7
45 2 1547.7
46 56  1543.3
a7 74 15419
48 75 1533.3
49 64  1530.1
50 9 1524.9
51 1 1521.9
52 43  1520.4
53 21 1517.9
54 33 1506.1
55 78 1498.3
56 62  1489.9
57 41  1488.3
58 7 1486.1
59 70 1477.1
60 71 14559
61 69  1430.9
62 31 1425.0
63 65 1406.6
64 61 1390.3
65 13  1376.8
66 55 13727
67 36 1369.7
68 17  1339.9
69 52 1336.1
70 51 13334
71 16  1331.6
72 27  1330.7
73 50 1328.0
74 54  1288.3
75 57 12241
76 63  1209.3
77 4 1175.9
78 3 1144.1

%

64.06
61.22
60.81
60.56
60.28
58.99
58.71
58.27
57.36
57.35
57.18
56.22
56.08
56.08
55.76
55.27
55.26
54.60
54.58
54.51
54.42
54.11
54.03
53.69
53.17
53.04
53.02
53.00
52.86
52.50
52.03
51.96
51.71
51.64
50.69
50.69
50.60
50.56
50.50
50.50
50.37
50.35
49.69
48.55
48.49
48.35
48.31
48.04
47.93
47.77
47.68
47.63
47.55
47.18
46.94
46.68
46.63
46.56
46.27
45.61
44.83
44.64
44.07
43.56
43.13
43.00
42.91
41.98
41.86
41.77
41.72
41.69
41.60
40.36
38.35
37.89
36.84
35.84

Namn

Anders Morath - Peter Backlund
Gunnar Andersson - Peter Bertheau
Mart Altmé&e - Mari Lindblom

PO Sundelin - Olle Wademark

Eric Arvidsson - Snorri Karlsson
Johnny Ostberg - Bengt-Erik Efraimsson
Mans Berg - Johan Upmark

Elena Strém - Erik Asbrink

Kenneth Raun - Per Hult

Madeleine Swanstrom - Tommy Gullberg
Frederic Wrang - Per-Ola Cullin

Lotta Darin - Peter Lindquist

Jessica Larsson - Jenny Rudenstal
Tommy Westman - Emma Sjéberg
Lars-Erik Rudstrom - Kjell-O Persson
Stefan Bengtsson - Christer Bech

Jan Larsson - Andreas Enblom

Lars Ritzman - Tora Philip

Kjell-Ake Jagenstedt - Anders Olsson
Ylva Strandberg - Gudrun Strandberg
Fredrik Alfredsson - Bengt Pettersson
Johan Linander - Ragnar Unge

Patric Holmberg - Magnus Deltin
Jonas Hagg - Johan Karlsson
Thomas Bjorkstrand - Sten Ternblad
Hannu Huhtala - Lennart Pettersson
Fredrik Nystrom - Johan Wahlberg
Sven-Bertil Svensson - Torbjérn Arffman
Michael Jungstedt - Claes Melin
Henrik Ludwigs - Lars Malm

Kerstin Strandberg - Lillemor Strindberg
Ben Hayes - Johan Sylvan

Per Clarin - Torbjorn Gustavsson
Niklas Johansson - Linnea Edlund
Staffan Schmidt - Roger Svenson
Micke Almgren - Eddie Persson

Peter Martensson - Anna Martensson
Lennart Karlberg - Jan-Olof Hegethorn
Margaretha Norbéck - Lars Norbéack
Peder Hagg - Leif Hansson

Stella Hathorn - Kerstin Hastad

Max Odlund - Britt-Marie Odlund
Martin Flodén - Mikael Lindblom
Hans Hultgvist - Peter Holmer

Per Sdderberg - Lennart Kjellman
Henning Tingvall - Birgitta Nilsson
Mats Tenland - Sverker Elmarsson
Mans Nedlich - Kristin Nedlich
Lennart Grundh - Paul Iwarson
Magnus Ekman - Peter Carlsson
Hans Nerell - Peter Flodgvist

Elsy Bergstedt - Florence Bodin
Jakob Sondén - Hannu Oikarainen
Anita Arkelid - Ing-Marie Bergman
Catarina Widgren - Borje Johansson
Stefan Léwenthal - Bengt Lauthers
Goran Hammarstrom - Mikael Arnberg
Mats Hargell - Lars Lovius
Ann-Christine Brask - Josef Jawitz
Gunnar Lund - Kent Sandstrom

Rolf Thiborg - Peter Hogstrom

Gunilla Osterdahl - Anita Lindgren
Lars-Goran Holmberg - Bertil Gustavsson
Ake Falkunge - Per Grivenfeldt
Christina Truuberg - Kerstin Hagglund
Claes Andreasson - Sven Rudberg
Nanna Larsson - llja Krusnell

Eva Wetterhall - Karl Persson

Conny Wahlgren - Jan Andersson
Eva Blomberg - Stefan Andersson
Jan Alpe - Christina Torsslow

Roland Axelsson - Lennart Eriksson
Lennart Hane - Georg Kelbel

UIf Lindeléw - Goran Lindén

Anders Johansson - Ann-Margret Johansson

Kerstin Helleberg - Ulla Lanner
Monica Engvall - Ulla-Britt Olsson
Bjorn Olsson - Eva Backhammar

MID
4664 244
18507 16757
5914 996
1171 14800
16417 36575
2051 127
12873 24498
8220 8624
24863 13220
9227 9047
8652 21204
51108 90779
17400 15767
20851 80922
10725 10169
1165 8966
5220 81510
88858 7780
2155 15815
9217 4143
83200 14219
88360 83544
17031 20343
27584 81517
9273 9539
+1813 +1814
18356 23539
18501 18502
9100 9105
10740 90738
9216 8806
6654 2325
10538 1255
24842 34773
2052 81992
11390 7345
20373 17063
2185 12033
8660 2809
20567 30539
9063 11222
9267 9266
13204 5094
2199 2164
18380 90879
10744 83071
26557 37060
50431 85109
8647 12865
6926 11594
85810 14778
16858 83452
93481 35098
16796 19162
8693 11612
9140 32610
11426 24686
5458 17047
82567 80046
2639 8592
9434 8546
92374 92379
14781 22138
9025 89392
93305 82566
8837 +1812
11429 25840
2815 2872
10733 11704
83300 84771
84783 18545
8720 9020
29605 14749
30144 30145
10188 13810
10190 84716
90045 32894
32918 35532
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1 « ED73 2 464 3 « EDKn6
Nord v EKn72 Ost v E982 Syd v 64
Ingen + K103 NS 4964 ov + ED106
&Kn5 #D1097 #Kn92
454 & K1062 4 ED1072 #K9 4432 # 10985

vE84 v 1093

vE94 v D108532

v 643 vD109 v10 v Kn63 v 10832 v EKKn
¢DKn42 +5 ¢ EKn7 + D832 + K9 ¢ 732
#D863 #E10742 &E852 &»K643 #E643 #1087
4 Kn98 4 Kn853 & K7
v K85 vKD754 v D975
+ E9876 + K105 ¢ Kn854
K9 »Kn »KD5
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
76 3 3NN+2 a2 460 76.0 0.0(75 4 3NO-3 v4 150 76.0 0.0 7 72 3NS+1 &4 430 54.0 22.0
62 17 3NN+1 vT 430 740 2.0(49 30 44 V-2 &9 100 73.0 30| 8 71 3NS+1 &3 430 54.0 22.0
21 58 3NN= a2 400 720 40|74 5 3NO-2 vK 100 73.0 3.0 9 70 3NS+1 &4 430 54.0 22.0
36 43 44 V-3 *4 150 70.0 6.0(11 68 4e V-1 *2 50 65.0 11.0(12 67 3NS+1 &4 430 54.0 22.0
64 15 3NO-2 &2 100 67.0 9.0(18 61 34 V-1 46 50 65.0 11.0(14 65 3NN +1 vK 430 54.0 22.0
75 4 34DO-1 v5 100 67.0 9.0|27 52 4a V-1 vA 50 65.0 11.0(23 56 3NS+1 &4 430 54.0 22.0
12 67 3NN-1 &2 -50 59.0 17.0|29 50 INO-1 v4 50 65.0 11.0(25 54 3NN +1 vA 430 54.0 22.0
31 48 3NN-1 a2 -50 59.0 17.0(33 46 3NO-1 vK 50 65.0 11.0(26 53 3NN +1 T 430 54.0 22.0
39 40 4v N-1 +5 -50 59.0 17.0|62 17 5# V-1 vA 50 65.0 11.0(28 51 3NN +1 oT 430 54.0 22.0
44 35 3NN-1 &2 -50 59.0 170 9 70 2¢ O= & -90 58.0 18.0|29 50 3NN +1 vK 430 54.0 22.0
45 34 3NN-1 &2 -50 59.0 17.0|76 3 3v S-1 s A -100 56.0 20.0|32 47 3NN +1 &2 430 54.0 22.0
66 13 3NN-1 &4 -50 59.0 170| 8 71 24 O= vA -110 46.0 30.0|36 43 3NN +1 oT 430 54.0 22.0
6 73 3NS-2 v6 -100 37.0 39.0|14 65 24 V= vA -110 46.0 30.0|37 42 3NN+1 T 430 54.0 22.0
8 71 3NN-2 &4 -100 37.0 39.0|23 56 3& V= vA -110 46.0 30.0|39 40 3NN +1 &3 430 54.0 22.0
9 70 3NN-2 &2 -100 37.0 39.0|25 54 24 V= vA -110 46.0 30.0|41 38 3NS+1 a3 430 54.0 22.0
14 65 3N N-2 &6 -100 37.0 39.0|36 43 24 V= v8 -110 46.0 30.0|55 24 3NS+1 &3 430 54.0 22.0
23 56 3NN-2 &2 -100 37.0 39.0(37 42 2&V +1 *4 -110 46.0 30.0(59 20 3NN +1 vA 430 54.0 22.0
25 54 3NN -2 &4 -100 37.0 39.0|63 16 2& V +1 46 -110 46.0 30.0|60 19 3NS+1 &3 430 54.0 22.0
26 53 3NN-2 &2 -100 37.0 39.0|66 13 24 V= +4 -110 46.0 30.0|63 16 3NS+1 &3 430 54.0 22.0
32 47 3NN-2 &2 -100 37.0 39.0|78 1 24 V= vA -110 46.0 30.0|69 10 3NS+1 &2 430 54.0 22.0
33 46 3NN-2 &2 -100 37.0 39.0(55 24 INO+1 v4 -120 36.0 400|74 5 3NS+1 v2 430 54.0 22.0
41 38 3NS-2 v3 -100 37.0 39.0(21 58 3V +1 +4 -130 30.0 46.0|76 3 3NN+1 vA 430 54.0 22.0
49 30 3NN-2 &4 -100 37.0 39.0|39 40 3& O +1 vA -130 30.0 46.0|77 2 3NN+1 *2 430 54.0 22.0
55 24 3NN -2 &4 -100 37.0 39.0(45 34 3&V+1 *4 -130 30.0 46.0|11 68 3NS= v3 400 24.0 52.0
63 16 3NN-2 a2 -100 37.0 39.0|59 20 3&V+1 vA -130 30.0 46.0|18 61 3NS= v2 400 24.0 52.0
69 10 3NN-2 v2 -100 37.0 39.0|60 19 4a V= vA -130 30.0 46.0|27 52 3NS= v2 400 24.0 52.0
74 5 3NN-2 &4 -100 37.0 39.0| 7 72 24 V+1 a2 -140 21.0 55.0|31 48 3NS= v2 400 24.0 52.0
77 2 3NN-2 &2 -100 37.0 39.0|12 67 24 V+1 46 -140 21.0 55.0|44 35 3NS= v3 400 24.0 52.0
11 68 3NN-3 &2 -150 11.0 65.0(31 48 24 V+1 &9 -140 21.0 55.0|45 34 3NN= vA 400 24.0 52.0
18 61 3NN-3 &3 -150 11.0 65.0|69 10 1 O +2 *2 -140 21.0 55.0|62 17 3NS= v8 400 24.0 52.0
27 52 3NN-3 &4 -150 11.0 65.0|28 51 INO+2 vK -150 16.0 60.0| 6 73 1INN+3 a9 180 12.0 64.0
28 51 3NN-3 &2 -150 11.0 65.0(26 53 24 V +2 a4 -170 11.0 65.0(49 30 1IN S +3 v2 180 12.0 64.0
29 50 3NN-3 &4 -150 11.0 65.0(32 47 24 O+2 a2 -170 11.0 65.0(57 22 2N N +2 vK 180 12.0 64.0
37 42 3NN-3 &2 -150 11.0 65.0 |57 22 2& V+2 46 -170 11.0 65.0|64 15 INS+3 &3 180 12.0 64.0
57 22 3NN-3 &2 -150 11.0 65.0(77 2 24 O+2 a2 -170 11.0 65.0(66 13 1IN S +3 &3 180 12.0 64.0
59 20 3NN-3 &4 -150 11.0 650| 6 73 3vDS-1 vT -200 4.0 72021 58 INS+2 v8 150 4.0 72.0
60 19 3NN-3 &3 -150 11.0 65.0|41 38 3vDS-1 vT -200 4.0 72.0|33 46 INN+2 T 150 4.0 72.0
78 1 3NN-3 &2 -150 11.0 65.0(44 35 4v S-2 s A -200 40 72078 1 INS+2 v3 150 4.0 72.0
7 72 3NN-4 46 -200 0.0 76.0|64 15 3vDS-2 &5 -500 0.0 76.0|75 4 3¢ S+1 &A 130 0.0 76.0
4 & Kn6 5 s E2 6 & EKn
Vast vD72 Nord v K7 Ost v EKn543
Alla + KKn10 NS + K9863 ov +73
&#KDKn105 #9754 &E1093
a4 « ED83 #8543 & Kn976 4 K842 «D106

v K106 vD9872

¢ E932 ¢ D8654 ¢ ED102 ¢ 75 ¢ D105 ¢ EKKn4
#97632 #8 &36 &2 842 &K

4 K109752 «KD10 49753

v KKn65 v Kn6 v-

*7 ¢+ Kn4 49862

&E4 #EKDKN103 »DKn765
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 3 46 S= *A 620 729 3.1(26 55 3NDN+1 ¢3 950 76.0 00| 8 73 4¢vDO-3 &Q 800 740 20
9 72 44 S= »2 620 729 3.1(28 53 54D S = vA 750 740 20|28 53 4¢vDO-3 &0Q 800 740 2.0
24 57 44 S= LY 620 729 31| 1 3 3NS+2 v4 660 65.0 11.0(30 51 4vDO-3 *Q 800 740 20
29 52 44 S= vA 620 729 3.1(10 71 3NN+2 v2 660 65.0 11.0(26 55 4vDO-2 &Q 500 70.0 6.0
13 68 3NN= vT 600 678 8.2(12 69 3NS+2 &8 660 65.0 11.0| 9 72 3NV-2 &3 200 63.0 13.0
27 54 34 S+1 &2 170 65.7 10.3 (15 66 4NN +1 v4 660 65.0 11.0(19 62 3NV-2 &3 200 63.0 13.0
40 41 2v S+1 &2 140 63.7 12.3(38 43 3NN +2 LY 660 65.0 11.0|24 57 3v O-2 &5 200 63.0 13.0
30 51 2# N +2 +4 130 61.6 14.4|60 21 3N S +2 *2 660 65.0 11.0(42 39 3v O-2 &0Q 200 63.0 13.0
38 43 2v S= a3 110 59.6 16.4 (61 20 3NN +2 *7 660 65.0 11.0|45 36 2v O-2 *Q 200 63.0 13.0
7 74 3NN-1 +5 -100 40.1 35977 4 3NN+2 v4 660 65.0 11.0(46 35 4v O-2 +9 200 63.0 13.0
8 73 44 S-1 »2 -100 40.1 359(22 59 3NS+1 46 630 45.0 31.0|29 52 3& N= *A 110 56.0 20.0
10 71 44 S-1 vA -100 40.1 359|27 54 3NS+1 *2 630 450 31.0| 1 3 2v0-1 *Q 100 38.0 38.0
12 69 46 S-1 &3 -100 40.1 35930 51 3NN+1 v8 630 45.0 31.0| 7 74 2v O-1 &Q 100 38.0 38.0
19 62 44 S-1 »6 -100 40.1 359(32 49 4ANN= v3 630 45,0 31.0|10 71 2v O-1 &0Q 100 38.0 38.0
28 53 44 N-1 LX) -100 40.1 35934 47 3NN+1 LY 630 45.0 31.0|12 69 2v O-1 *Q 100 38.0 38.0
32 49 44 N-1 vA -100 40.1 359|45 36 3NN +1 v3 630 45.0 31.0|15 66 2v O-1 &Q 100 38.0 38.0
33 48 44 S-1 vA -100 40.1 359(46 35 3NS+1 a4 630 45.0 31.0|22 59 2v O-1 &0Q 100 38.0 38.0
34 47 44 N-1 vT -100 40.1 359|64 17 3NS+1 *2 630 45.0 31.0|33 48 4v O-1 *Q 100 38.0 38.0
37 44 44 N-1 +5 -100 40.1 359|67 14 3NS+1 LY:] 630 45.0 31.0|34 47 2v O-1 &2 100 38.0 38.0
46 35 44 S-1 »2 -100 40.1 359(|70 11 3NS+1 v2 630 45.0 31.0|58 23 2v O-1 &5 100 38.0 38.0
58 23 3NN-1 *4 -100 40.1 359|75 6 3NN+1 v3 630 45.0 31.0|160 21 2v O-1 *Q 100 38.0 38.0
60 21 44 N-1 LX) -100 40.1 359|76 5 3NS+1 LY 630 45.0 31.0|63 18 2v O-1 &Q 100 38.0 38.0
64 17 5# N-1 A -100 40.1 359| 7 74 54 S= vA 600 240 52.0(65 16 2¢v O-1 &0Q 100 38.0 38.0
67 14 44 S-1 vA -100 40.1 359|19 62 5& S= LX) 600 240 52.0(67 14 2¢v O-1 +6 100 38.0 38.0
70 11 44 S-1 *A -100 40.1 359|24 57 5& S= &6 600 240 52.0(70 11 2v O-1 &5 100 38.0 38.0
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76 5 44 N-1 2 -100 40.1 35.9|29 52 5# S= *6 600 240 520(75 6 2v0O-1 *3 100 38.0 38.0
77 4 44 N-1 vA -100 40.1 35.9|33 48 5# S= vA 600 240 520|76 5 3vO-1 *Q 100 38.0 38.0
15 66 4v N-2 »8 -200 11.3 64.7|37 44 58 S= vA 600 240 520|77 4 2v0O-1 LN 100 38.0 38.0
22 59 3NN-2 +4 -200 11.3 64.7|50 31 5# S= vA 600 240 52.0(27 54 3NN-2 ¢ A -100 20.0 56.0
26 55 44 N-2 8 -200 11.3 64.7|63 18 5# S= 8 600 24.0 52.0(13 68 2v O= *2 -110 12.0 64.0
42 39 3NN-2 *4 -200 11.3 64.7|65 16 5% S= vA 600 24.0 52.0(32 49 24 O= ¢7 -110 12.0 64.0
45 36 44 N-2 8 -200 113 64.7| 8 73 4vyDO-3 ¢2 500 14.0 62.0(38 43 2v O = *0Q -110 12.0 64.0
56 25 44 S-2 *2 -200 11.3 64.7(13 68 3vDV-2 &5 300 12.0 64.0|40 41 2v O= +6 -110 12.0 64.0
61 20 3NN-2 *4 -200 11.3 64.7 (40 41 4% S+1 vA 150 8.0 68.0|56 25 2v O= &5 -110 12.0 64.0
63 18 44 S-2 «9 -200 11.3 64.7(42 39 44 S+1 »8 150 8.0 68.0|61 20 2v O = *0Q -110 12.0 64.0
75 6 3NN-2 +4 -200 11.3 64.7 (58 23 3# S +2 vA 150 80 68.0|78 2 24 O= *Q -110 12.0 64.0
78 2 44 S-2 »2 -200 113 64.7|78 2 3v O-2 A 100 4.0 72037 44 2v O+1 *0Q -140 3.0 73.0
50 31 3NN-3 +6 -300 0.0 76.0| 9 72 6#S-1 vA -100 1.0 75.0(50 31 2v O+1 *0Q -140 3.0 73.0
65 16 A+/A+ 456 456(56 25 54 S-1 vA -100 1.0 75.0(64 17 54DN-4 ¢K -800 0.0 76.0
7 «E9 8 4 K987 9 « EKKNn1094
Syd v 9832 Vast v Kn65 Nord v D64
Alla ¢ Kn93 Ingen ¢+ D54 ov +9
&#KD95 &#EKn8 £932
4 KD754 «1086 4643 & DKn2 453 4872
v EK7 v 654 vD1074 vK98 v92 v EKn1083
+ EK6 4872 ¢ Kné + E1098 ¢ DKn105 ¢ 732
2108 #EKn63 #D1075 #K32 #EKn765 #108
4 Kn32 4 E105 4 D6
v DKn10 vE32 v K75
+D1054 ¢ K732 + EK864
*742 2964 #KD4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
46 37 44 V-2 v3 200 740 20(47 36 INDN-= *T 180 76.0 00| 8 75 44 N+1 2 450 56.0 20.0
59 24 44 V-2 *K 200 740 20(10 73 2NN= 2 120 710 50|10 73 44 N+1 vA 450 56.0 20.0
78 3 44 V-2 &K 200 740 20(11 72 INS+1 43 120 710 50|13 70 54 N= &T 450 56.0 20.0
2 4 44 V-1 *Q 100 65.0 11.0(29 54 2NS= v4 120 710 50|14 69 44 N+1 vA 450 56.0 20.0
11 72 44 V-1 +K 100 65.0 11.0(46 37 INS+1 v2 120 710 50|20 63 44 N+1 &T 450 56.0 20.0
28 55 44 V-1 &K 100 65.0 11.0(61 22 24 N= v8 110 66.0 10.0 |23 60 44 N+1 2 450 56.0 20.0
34 49 4e V-1 +K 100 65.0 110 2 4 INO-2 +3 100 61.0 15.0|25 58 44 N +1 48 450 56.0 20.0
41 42 4e V-1 v3 100 65.0 11.0(23 60 INDO-1 3 100 61.0 15.0(28 55 44 N+1 a7 450 56.0 20.0
65 18 44 V-1 &K 100 65.0 11.0(34 49 INO-2 *6 100 61.0 15.0|29 54 54 N= &T 450 56.0 20.0
29 54 1a V+1 v3 -110 500 26.0(77 6 INO-2 2 100 61.0 15.0(31 52 44 N+1 vA 450 56.0 20.0
31 52 1a V+1 *9 -110 50.0 26.0|20 63 INS= v7 90 51.0 25.0(33 50 54 N= vA 450 56.0 20.0
33 50 1a V+1 *K -110 50.0 26.0(33 50 INS= +J 90 51.0 25.0(34 49 44 N+1 48 450 56.0 20.0
35 48 1a V+1 v3 -110 50.0 26.0(38 45 INS= va 90 51.0 25.0|35 48 44 N+1 &T 450 56.0 20.0
38 45 1a V+1 *K -110 50.0 26.0(64 19 INN= *T 90 51.0 25.0(39 44 44 N+1 vA 450 56.0 20.0
47 36 1s V+1 v9 -110 500 26.0|76 7 INN= +8 90 51.0 25.0 |46 37 44 N+1 &T 450 56.0 20.0
61 22 1a V+1 v9 -110 500 26.0|({78 3 INS= v7 90 51.0 25.0 (47 36 44 S+1 v9 450 56.0 20.0
66 17 1 V+1 *K -110 50.0 26.0(28 55 INO-1 oA 50 40.0 36.0|65 18 44 N+1 &T 450 56.0 20.0
68 15 1e V+1 v3 -110 50.0 26.0|31 52 INO-1 +3 50 40.0 36.0|66 17 44 N+1 &T 450 56.0 20.0
30 53 INO+1 vQ -120 40.0 36.0|43 40 2v V-1 49 50 40.0 36.0|68 15 44 N+1 vA 450 56.0 20.0
8 75 1a O+2 +K -140 30.0 46.0(51 32 INO-1 45 50 40.0 36.0|76 7 44 N+1 v3 450 56.0 20.0
9 74 14 V+2 *K -140 30.0 46.0|66 17 INO-1 29 50 40.0 36.0|77 6 44 N+1 &T 450 56.0 20.0
13 70 1a V+2 v9 -140 300 46.0| 9 74 INS-1 v4 -50 29.0 470 1 5 3NS+1 LY 430 28.0 48.0
27 56 1 V +2 *K -140 30.0 46.0|14 69 INS-1 +J -50 29.0 47.0| 2 4 3NS+1 »5 430 28.0 48.0
43 40 14 V+2 &K -140 30.0 46.0|25 58 2N S-1 &5 -50 29.0 47.0| 9 74 3NS+1 *6 430 28.0 48.0
57 26 1 V+2 &K -140 30.0 46.0(35 48 24 S-1 *T -50 29.0 47.0|27 56 3NS+1 ¢+Q 430 28.0 48.0
64 19 1 V+2 *Q -140 30.0 46.0(41 42 INN-1 *T -50 29.0 47.0|43 40 3NS+1 ¢+Q 430 28.0 48.0
76 7 le V+2 &K -140 30.0 46.0|71 12 2NS-1 v4 -50 29.0 47.0|61 22 3NS+1 a5 430 28.0 48.0
77 6 1a O+2 *0Q -140 30.0 46.0(62 21 1¢ O= *4 -70 22.0 54.0|78 3 3NS+1 LX) 430 28.0 48.0
10 73 INO +2 vT -150 20.0 56.0(13 70 INO= 45 -90 15.0 61.0|16 67 44 N= &T 420 17.0 59.0
14 69 1a V+3 «K -170  16.0 60.0(27 56 INO = aA -90 15.0 61.0|51 32 44 N= a2 420 17.0 59.0
20 63 1a V+3 &K -170 16.0 60.0 (30 53 INO= 2 -90 15.0 61.0|59 24 44 N= &T 420 17.0 59.0
23 60 24 V +2 a A -170 16.0 60.0(57 26 INO= +3 -90 15.0 61.0|62 21 44 N= &T 420 17.0 59.0
71 12 3NV= &5 -600 12.0 64.0|59 24 INV= 48 -90 15.0 61.0|30 53 3NS= »3 400 9.0 67.0
1 5 4eV= +3 -620 6.0 70.0|65 18 INO= *9 -90 15.0 61.0|38 45 3NS= *6 400 9.0 67.0
16 67 44 V= *K -620 6.0 70.0|39 44 1lv V+1 v5 -110 8.0 68.0(41 42 3NS= 3 400 9.0 67.0
25 58 4a4 V= *0Q -620 6.0 700 1 5 INO+1 +3 -120 6.0 70.0|57 26 3NS= &5 400 9.0 67.0
39 44 44 V= +K -620 6.0 70.0|16 67 3NN-3 *T -150 3.0 73.0|11 72 24 N+3 &T 200 40 720
62 21 44 V= *K -620 6.0 70.0|68 15 3NN-3 *T -150 3.0 73.0|64 19 3NS-1 *6 -50 1.0 75.0
51 32 3NV +2 aA -660 00 76.0| 8 75 24DO= 2 -180 0.0 76.0|71 12 64 N-1 &T -50 1.0 75.0
10 4 D76 11 « EKn976 12 « EKD862
Ost v DKn7 Syd v K3 Vast v 754
Alla + 1095 Ingen ¢ DKn5 NS *-
#D865 *K84 #KKn95
442 #1093 4 KD102 454 43 « Kn1094
v E53 v 1096 vKn7 vD108 vDKn82 vE106
¢+ KDKn32 ¢ E876 4943 + E108762 ¢ ED854 ¢ Kn963
2973 #E42 #DKn53 #107 #E107 462
4 EKKn85 483 475
v K842 v E96542 v K93
*4 *+ K ¢ K1072
#KKn10 #E962 «D843
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 76 44 S= ¢+Q 620 68.0 8.0(30 55 3¢RDO-2 48 600 76.0 00|14 71 34DN+1 +¢9 930 76.0 0.0
14 71 44 S= ¢+Q 620 68.0 8.0(10 75 3NN +2 2 460 700 60| 1 7 2NDS= +5 690 740 20
15 70 44 S= + K 620 68.0 80(12 73 3NN +2 ¢7 460 70.0 6.0(42 43 44 N= 49 620 720 4.0
34 51 44 S= +K 620 68.0 8.0(15 70 3NN +2 +6 460 70.0 6.0({30 55 INDO-3 a7 500 70.0 6.0
44 41 44 S= +K 620 68.0 8.0(21 64 3NN+2 *7 460 70.0 6.0(58 27 3vV-3 s A 150 68.0 8.0
63 22 44 S= + K 620 68.0 8.0(52 33 3NN +2 2 460 700 6.0| 3 5 34 N= +6 140 60.0 16.0
65 20 44 S= +K 620 68.0 8.0(29 56 4v S+1 »5 450 63.0 13.0(24 61 34 N= ] 140 60.0 16.0
66 19 44 S= +K 620 68.0 8.0(63 22 4v S+1 v7 450 63.0 13.0(26 59 34 N= +6 140 60.0 16.0
69 16 44 S= &5 620 680 80| 1 7 3NN+1 2 430 49.0 27.0|32 53 34 N= &3 140 60.0 16.0
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35 50 3¢ V-2 46 200 58.0 180 2 6 3NN+1 +6 430 49.0 27.0|40 45 34 N= ¢J 140 60.0 16.0
3 5 3vyN+1 ¢A 170 36.0 40.0| 9 76 3NN+1 +8 430 49.0 27.0|47 38 34 N= +6 140 60.0 16.0
10 75 34 S+1 ¢+ K 170 36.0 40.0|14 71 3NN+1 ¢7 430 49.0 27.0(72 13 24 N+1 &6 140 60.0 16.0
12 73 24 S+2 ¢ A 170 36.0 40.0(34 51 3NN +1 +8 430 49.0 27.0|69 16 3& N= ¢J 110 52.0 24.0
21 64 24 S+2 +Q 170 36.0 40.0|39 46 3NN+1 ¢+5 430 49.0 27.0|34 51 3¢+DV-1 aA 100 50.0 26.0
24 61 34 S+1 +K 170 36.0 40.0|40 45 3NN+1 ¢7 430 49.0 27.0(10 75 5¢ O-1 aA 50 43.0 33.0
26 59 34 S+1 ¢+ K 170 36.0 40.0 (58 27 3NN +1 a5 430 49.0 27.0|44 41 3¢ V-1 &K 50 43.0 33.0
29 56 34 S+1 ¢+ K 170 36.0 40.0|/60 25 3NN +1 ¢7 430 49.0 27.0|48 37 3¢ V-1 aA 50 43.0 33.0
30 55 24 S+2 +K 170 36.0 40.0|/65 20 3NN +1 ¢7 430 49.0 27.0(60 25 3¢ V-1 aA 50 43.0 33.0
31 54 14 S+3 ¢+ K 170 36.0 40.0(66 19 3NN +1 ¢+5 430 49.0 27.0|67 18 3¢ V-1 s A 50 43.0 33.0
32 53 34 N+1 ¢+ K 170 36.0 40.0|72 13 3NN+1 +6 430 49.0 27.0|78 4 5¢ V-1 aA 50 43.0 33.0
36 49 34 S+1 +K 170 36.0 40.0|11 74 4v S= +9 420 31.0 45.0|28 57 2¢ V= aA -90 36.0 40.0
39 46 24 S+2 ¢+ K 170 36.0 40.0|24 61 4v S= *Q 420 31.0 45.0|31 54 44 N-1 *6 -100 33.0 43.0
40 45 24 S+2 ¢+ K 170 36.0 40.0|35 50 4v S= +9 420 31.0 45.0|35 50 44 N-1 +J -100 33.0 43.0
42 43 34 S+1 +K 170 36.0 40.0|44 41 4v S= +3 420 31.0 450|112 73 3¢ V= aA -110 28.0 48.0
47 38 34 S+1 ¢+ K 170 36.0 40.0|47 38 4v S= +3 420 31.0 450|229 56 3¢ V= &K -110 28.0 48.0
48 37 34 S+1 ¢+ K 170 36.0 40.0|67 18 4v S= «Q 420 31.0 450|65 20 3¢ V= &K -110 28.0 48.0
52 33 34 S+1 +K 170 36.0 40.0|48 37 3NN= a5 400 24.0 52.0|36 49 3¢ V+1 aA -130 22.0 54.0
60 25 34 S+1 ¢ Q 170 36.0 40.0(42 43 2¢D0O-2 48 300 22.0 54.0(52 33 3¢ V+1 s A -130 22.0 54.0
67 18 34 S+1 ¢+ K 170 36.0 40.0|31 54 2NN +2 ¢7 180 20.0 56.0|62 23 2¢ V+2 aA -130 22.0 54.0
72 13 34 S+1 +K 170 36.0 40.0|17 68 2v N +2 a5 170 110 65.0|11 74 2¢DV = aA -180 18.0 58.0
78 4 34 S+1 ¢+ K 170 36.0 40.0(26 59 2v S+2 s K 170 11.0 650 2 6 44DN-1 4] -200 13.0 63.0

1 7 34S= ¢+ K 140 9.0 67.0|28 57 2v S+2 &K 170 11.0 65.0(17 68 44DN-1 ¢7 -200 13.0 63.0
2 6 34S= ¢+ K 140 9.0 67.0(36 49 3v S+1 4 K 170 11.0 65.0|21 64 4#DN-1 +3 -200 13.0 63.0
11 74 34 S= ¢+ K 140 9.0 67.0|62 23 3v S+1 &K 170 11.0 65.0(39 46 3NS-2 ¢+4 -200  13.0 63.0
17 68 34 S= ¢+ K 140 9.0 67.0|69 16 2v N +2 2 170 11.0 65.0( 9 76 3¢DV= aA -470 8.0 68.0
58 27 34 S= ¢+ K 140 9.0 67.0|77 8 2v N+2 4 K 170 11.0 65.0|66 19 4¢DV = aA -510 6.0 70.0
62 23 24 S+1 ¢+ K 140 9.0 67.0|78 4 2v S+2 ¢ A 170 11.0 65.0(15 70 3¢DV+1 &A -570 3.0 73.0
77 8 1a N+1 ¢+ K 110 20 740 3 5 3NN-1 +6 -50 1.0 75.0|77 8 3¢DO+1 4Q -570 3.0 73.0
28 57 44 S-1 ¢+ K -100 0.0 76.0(32 53 3NN-1 +3 -50 1.0 75.0|63 22 54DN-4 +¢6 -1100 0.0 76.0
13 « D932 14 +« E864 15 + K1096
Nord v3 Ost v EK4 Syd v Kn3
Alla + EKKn10865 Ingen ¢+ E10 NS ¢ E7

&4 D843 #KKn873
» K864 41075 92 4« DKn10753 « ED5 a72
vKKn52 v E864 v D85 vKn7 vD942 v5
+D ¢ 32 ¢+ Kn9832 ¢ KD64 +9 + DKn106543
#KKn103 #ED72 #1072 »5 #ED965 #1042
4« EKn 4K 4« Kn843
vD1097 v 109632 v EK10876
¢ 974 ¢+ 75 + K82
#9865 &EKKN96 »-

Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
32 55 34 O0-2 *3 200 750 10| 1 9 6NN= +Q 990 750 10| 2 8 44DS+1 ¢9 990 75.0 1.0
36 51 4¢vDV-1 +A 200 75.0 10|73 14 6NN= & Q 990 750 10|33 54 4¢vyDS+1 +¢9 990 75.0 1.0
37 50 3¢ S+2 vA 150 710 50|32 55 6Yy N= 3 980 69.0 7.0|48 39 54DS-= +9 850 720 4.0
73 14 2¢ N+3 vA 150 710 50|36 51 6v S= 49 980 69.0 7.0|13 74 54DO-4 vK 800 65.0 11.0
1 9 2¢ N+2 +3 130 47.0 29.0(49 38 6v S= 2 980 69.0 7.0|/18 69 54DV -4 vJ 800 65.0 11.0
2 8 3¢ N+1 vA 130 47.0 29.0|66 21 6v S= 49 980 69.0 7.0{30 57 34DV -4 v] 800 65.0 11.0
4 6 3¢ N+1 aT 130 47.0 29.0|45 42 6& N= ¢+ K 920 63.0 13.0|59 28 64DV -4 v] 800 65.0 11.0
11 76 2¢ N+2 v6 130 47.0 29.0|53 34 6 S= 46 920 63.0 13.0|/63 24 54DV -4 vJ 800 65.0 11.0
12 75 2¢ N+2 ¢2 130 47.0 29.0|43 44 54D O-4 &K 800 60.0 16.0|68 19 54DV -4 v] 800 65.0 11.0
15 72 2¢ N+2 A 130 47.0 29.0(29 58 3NN +4 4Q 520 58.0 180| 4 6 4vyDS= +9 790 58.0 18.0
16 71 3¢ N+1 *2 130 47.0 29.0|15 72 3NN +3 ¢Q 490 52.0 24.0|25 62 44 S+1 +9 650 51.0 25.0
18 69 3¢ N+1 &A 130 47.0 29.0|16 71 3NN+3 ] 490 52.0 24.0(29 58 44 S+1 +9 650 51.0 25.0
30 57 3¢ N+1 +3 130 47.0 29.0 (35 52 3NN +3 «Q 490 52.0 24.0|37 50 4« S+1 +9 650 51.0 25.0
31 56 3¢ N+1 2 130 47.0 29.0 (40 47 3NN +3 «Q 490 52.0 24.0|40 47 54 S= +9 650 51.0 25.0
33 54 3¢ N+1 +3 130 47.0 29.0|178 5 3NN+3 «Q 490 52.0 24.0|41 46 44 N+1 +Q 650 51.0 25.0
40 47 2¢ N+2 +3 130 47.0 29.0| 3 7 4v S+2 49 480 35.0 41.0|66 21 44 S+1 +9 650 51.0 25.0
41 46 3¢ N+1 +3 130 47.0 29.0(12 75 4v S+2 49 480 35.0 410 1 9 3NN+1 &2 630 41.0 35.0
45 42 2¢ N +2 +4 130 47.0 29.0|22 65 4v N+2 a9 480 35.0 41.0(15 72 3NN +1 +Q 630 41.0 35.0
48 39 3¢ N+1 a5 130 47.0 29.0|25 62 4v S+2 49 480 35.0 41.0|22 65 3NN+1 &4 630 41.0 35.0
49 38 2¢ N+2 +3 130 47.0 29.0|30 57 4v S+2 49 480 35.0 410|161 26 3NN+1 +Q 630 41.0 35.0
53 34 2¢ N+2 2 130 47.0 29.0|31 56 4v S+2 a9 480 35.0 41.0|12 75 4v S= +9 620 33.0 43.0
59 28 3¢ N+1 a5 130 47.0 29.0|41 46 4v S+2 49 480 35.0 41.0|35 52 44 S= ¢+6 620 33.0 43.0
61 26 3¢ N+1 a7 130 47.0 29.0 (48 39 4v S+2 49 480 35.0 41.0|49 38 4v S= +9 620 33.0 43.0
64 23 3¢ N+1 a5 130 47.0 29.0|64 23 5v S+1 a9 480 35.0 41.0|67 20 4v S= +9 620 33.0 43.0
66 21 2¢ N+2 v6 130 47.0 29.0|67 20 4v S+2 +9 480 35.0 41.0(32 55 3NN= 2 600 28.0 48.0
68 19 3¢ N+1 +3 130 47.0 29.0|68 19 4v S+2 49 480 35.0 41.0|16 71 5¢DO-3 ©vA 500 24.0 52.0
13 74 3v0O-1 +9 100 22.0 54.0(70 17 4v S+2 2 480 35.0 41.0|27 60 44DV -3 v] 500 24.0 52.0
35 52 34 O0-1 +4 100 22.0 54.0(18 69 3NN +2 +6 460 22.0 54.0|73 14 54DV -3 v] 500 24.0 52.0
70 17 4v O -1 2 100 22.0 54.0|27 60 4v S+1 49 450 20.0 56.0|11 76 2#DV -2 vJ 300 17.0 59.0
3 7 5¢N-1 a5 -100 13.0 63.033 54 3NN +1 «Q 430 17.0 59.0 (45 42 34DV -2 v] 300 17.0 59.0
10 77 3NN-1 *2 -100 13.0 63.0(63 24 3NN +1 4Q 430 17.0 59.0 (53 34 34DV -2 v] 300 17.0 59.0
22 65 3NS-1 &4 -100 13.0 63.0| 4 6 5#S+1 49 420 140 62.0(64 23 34DV -2 vJ 300 17.0 59.0
29 58 INS-1 &T -100 13.0 63.0|13 74 54 S= 49 400 120 640 3 7 4¢ O-2 vK 100 11.0 65.0
63 24 5¢ N-1 46 -100 13.0 63.0(59 28 3v S+3 a2 230 9.0 67.0|43 44 44DV-1 vJ] 100 11.0 65.0
67 20 3NS-1 &J -100 13.0 63.0(61 26 3v S+3 49 230 9.0 67.0(36 51 44 S-1 A -100 8.0 68.0
78 5 24 O= *4 -110 6.0 70.0|11 76 44 O-4 A 200 6.0 70.0|31 56 2& N-2 +Q -200 5.0 71.0
25 62 3v V= ¢+ K -140 3.0 73.0|37 50 4& N +2 46 170 40 720(78 5 4vyDS-1 +9 -200 5.0 71.0
27 60 3v O= .7 -140 30 730 2 8 24DV-1 vK 100 20 74.0(10 77 44DS-2 +9 -500 1.0 75.0
43 44 5¢DS-1 ¢+ Q -200 00 76.0(10 77 7#S-1 a9 -50 0.0 76.0|70 17 44DS-2 a5 -500 1.0 75.0
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16 & Knl105 17 & Kn97432 18 « D7
Vast vKn76 Nord v 65 Ost v D9643
oV + DKn64 Ingen + ED109 NS + K106
#1094 &7 #Kn83
& 97 & K86 & E85 4 K10 « K86 & Kn1092
v 105 v EK98 vD74 v EKn1093 vEKKn102 v87
¢ E10982 ¢ 73 +Kn32 ¢K *7 + ED82
&#KDKn2 #8653 &#EKNn94 &#KD1086 &E974 #1065
& ED432 « D6 & E543
v D432 v K82 v5
+ K5 ¢ 87654 ¢ Kn9543
SE7 532 »KD2
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
32 57 3¢D0O-2 a] 500 750 10|71 18 24aDN= &K 470 76.0 0.0(68 21 4vDV-2 «Q 300 76.0 0.0
62 27 4vDO-2 &A 500 750 10(11 1 6NV-3 *4 150 740 20(26 63 3NO-3 +3 150 720 4.0
3 9 24 S+1 &K 140 680 80| 5 7 640-1 & Q 50 67.0 9.0|32 57 3NO-3 *2 150 72.0 4.0
28 61 34 S= &K 140 68.0 8.0(14 75 64 O-1 & Q 50 67.0 9.0(37 52 3NO-3 +3 150 720 4.0
41 48 24 S+1 &K 140 68.0 8.0(19 70 64 V-1 a3 50 67.0 9.0 2 10 4e V-2 v5 100 60.0 16.0
46 43 24 S+1 ¢A 140 68.0 80|54 35 6&V-1 ¢A 50 67.0 90|11 1 3vV-2 &Q 100 60.0 16.0
78 6 14 S+2 &K 140 68.0 8.0|60 29 6v O-1 +5 50 67.0 9.0(12 77 2NV - +6 100 60.0 16.0
60 29 INS+1 +9 120 62.0 14.0(64 25 6v O-1 & Q 50 67.0 9.0(14 75 4v V-2 & Q 100 60.0 16.0
19 70 24 S= &K 110 55.0 21.0|16 73 3NV= +9 -400 55.0 21.0|19 70 3NO-2 *4 100 60.0 16.0
26 63 24 S= &K 110 55.0 21.0(23 66 3NV = ¢A -400 55.0 21.0|28 61 3NO-2 +3 100 60.0 16.0
30 59 24 S= &K 110 55.0 21.0(34 55 3NV= *A -400 55.0 21.0(38 51 24 O-2 &K 100 60.0 16.0
33 56 14 S+1 &K 110 55.0 21.0|42 47 3NV = *A -400 55.0 21.0(44 45 24 O-2 *Q 100 60.0 16.0
38 51 24 N= &K 110 55.0 21.0(68 21 5% V= ¢A -400 55.0 21.0|49 40 28V -2 +6 100 60.0 16.0
67 22 24 S= &K 110 55.0 21.0(69 20 3NV = +9 -400 55.0 21.0| 5 7 340-1 &K 50 39.0 37.0
14 75 3a V-1 &] 100 47.0 29.0 (46 43 4v V= &7 -420 48.0 28.0|16 73 34 O-1 v5 50 39.0 37.0
68 21 2NO-1 v3 100 47.0 290| 3 9 4v O+1 +8 -450 30.0 46.0|30 59 24 O-1 v4 50 39.0 37.0
4 8 1a S= &K 80 420 340| 4 8 5v 0= & Q -450 30.0 46.0(33 56 2v V-1 +K 50 39.0 37.0
16 73 14 S= &K 80 42.0 34.0(17 72 5v V= *A -450 30.0 46.0(34 55 2v V-1 & Q 50 39.0 37.0
31 58 14 S= &K 80 42.0 34.0|28 61 4v V+1 &7 -450 30.0 46.0|41 48 2v V-1 «Q 50 39.0 37.0
5 7 24S-1 vT -50 31.0 45.0|30 59 4v O +1 & Q -450 30.0 46.0|42 47 34 O-1 v5 50 39.0 37.0
11 1 24 S-1 &K -50 31.0 45031 58 4v O +1 +8 -450 30.0 46.0(62 27 3v V-1 +6 50 39.0 37.0
37 52 24 N-1 vA -50 31.0 45.0|32 57 4v O +1 a3 -450 30.0 46.0(64 25 2v V-1 «Q 50 39.0 37.0
44 45 24 S-1 &K -50 31.0 45.0|33 56 4v O +1 & Q -450 30.0 46.0(65 24 3v V-1 & Q 50 39.0 37.0
64 25 34 N-1 vK -50 31.0 45036 53 4v O +1 4Q -450 30.0 46.0|67 22 2v V-1 +6 50 39.0 37.0
69 20 24 N-1 vJ -50 31.0 45037 52 4v O +1 & Q -450 30.0 46.0|71 18 24 O-1 *4 50 39.0 37.0
71 18 24 S-1 vT -50 31.0 45.0|38 51 4v O+1 & Q -450 30.0 46.0|13 76 2v V= & Q -110 20.0 56.0
74 15 24 S-1 &K -50 31.0 45.0|49 40 4v O+1 & Q -450 30.0 46.0|23 66 24 V= &K -110 20.0 56.0
42 47 INO= a2 -90 21.0 55.0|50 39 4v O+1 & Q -450 30.0 46.0|31 58 24 O= &K -110 20.0 56.0
54 35 24 0= &A 90 21.0 55.0|65 24 4y O +1 & Q -450 30.0 46.0|36 53 24 O = v5 -110 20.0 56.0
2 10 34 S-2 &K -100 14.0 62.0(67 22 4v V+1 4Q -450 30.0 46.0|46 43 2v V= v3 -110 20.0 56.0
17 72 44D S-1 a7 -100 14.0 62.0|74 15 4v O +1 & Q -450 30.0 46.0|60 29 24 O= v5 -110 20.0 56.0
23 66 34 S-2 &K -100 14.0 62.0|78 6 5v O= *4 -450 30.0 46.0(78 6 24 O= v5 -110 20.0 56.0
34 55 34 S-2 &K -100 14.0 62.0(12 77 3NV +2 v6 -460 10.0 66.0|17 72 24 O +1 *4 -140 10.0 66.0
49 40 34 S-2 &K -100 14.0 62.0|26 63 3NV +2 a5 -460 10.0 66.0 |50 39 34 O= v5 -140 10.0 66.0
12 77 3% 0= &A -110 6.0 70.0(62 27 3NV +2 a3 -460 10.0 66.0 (54 35 24 O+1 v5 -140 10.0 66.0
36 53 3# 0= &A -110 6.0 70.0| 2 10 4v V+2 &7 -480 5.0 71.0|169 20 2N O +1 4Q -150 6.0 70.0
65 24 2v O= &A -110 6.0 70.0(41 48 4y O+2 & Q -480 50 710 4 8 24 O+2 &K -170 4.0 72.0
13 76 INO +1 a3 -120 1.0 75.0|13 76 44DN-3 &K -500 1.0 750 3 9 24 S-2 vA -200 1.0 75.0
50 39 2NO= a3 -120 1.0 75.0|44 45 44DN-3 &K -500 1.0 75.0(74 15 2¢ N-2 vA -200 1.0 75.0
19 « DKn865 20 « KD1095 21 « D108654
Syd v EK75 Vast v- Nord vKn98
oV + 103 Alla + D92 NS ¢ E
»K6 &E10973 &EK9
a4 K74  &E932 48763 &2 & Kn7 & E9
v1098 vKn6 v9632 vEKKn107 vK6532 vD
¢ K72 ¢ Kn64 ¢+ E106 ¢ K75 ¢ 643 + D987
D743 #Knl052 &#Kn5 &#KD64 &#Kn52 #D108643
«10 « EKn4 & K32
v D432 v D854 vE1074
+ ED985 ¢ Kn843 ¢ KKn1052
&E98 »82 &7
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 1 3NS+2 vT 460 75.0 1.0(47 44 4vyDV-1 &K 200 740 2.0(39 52 64 N= +8 1430 75.0 1.0
42 49 3NN +2 a2 460 750 10|75 16 4v V-2 & K 200 740 2.0(45 46 64 N= &8 1430 75.0 1.0
5 9 4v S+1 &4 450 60.0 16.0|78 7 4v O-2 s A 200 740 20|42 49 54D O-5 42 1100 71.0 5.0
6 8 4v N+1 & 450 60.0 16.0(14 77 4v O-1 s A 100 68.0 80|50 41 54D O-5 42 1100 71.0 5.0
15 76 4v S+1 vT 450 60.0 16.0(17 74 4v V-1 & Q 100 68.0 8.0|70 21 44D O -4 a2 800 68.0 8.0
18 73 4v N+1 & 450 60.0 16.0(33 58 4v O-1 s A 100 68.0 8.0(20 71 44 N+2 vQ 680 62.0 14.0
20 71 4v N+1 &T 450 60.0 16,0 5 9 34 N-1 vA -100 59.0 17.0|34 57 44 N+2 &4 680 62.0 14.0
29 62 4v S+1 &3 450 60.0 16.0|29 62 44 N-1 vA -100 59.0 17.0|37 54 44 N +2 vK 680 62.0 14.0
38 53 4v N+1 &5 450 60.0 16.0 (34 57 44 N-1 vA -100 59.0 17.0|69 22 44 N +2 vQ 680 62.0 14.0
51 40 4v N +1 & 450 60.0 16.0(35 56 34 N-1 vA -100 59.0 17.0|72 19 44 N+2 vQ 680 62.0 14.0
61 30 4v N+1 &7 450 60.0 16.0|43 48 44 N-1 vA -100 59.0 17.0(15 76 4NN +1 &4 660 56.0 20.0
65 26 4v N +1 & 450 60.0 16.0|70 21 34 N-1 vA -100 59.0 17.0| 4 10 44 N+1 vQ 650 31.0 45.0
66 25 4v S+1 &4 450 60.0 16.032 59 3v O = &K -140 52.0 240| 5 9 44 N+1 vQ 650 31.0 45.0
70 21 4v S+1 a4 450 60.0 16.0|18 73 3v O +1 s A -170 49.0 27.0| 6 8 44 N+1 vQ 650 31.0 45.0
72 19 4v S+1 vT 450 60.0 16.0 (27 64 2v O +2 &3 -170  49.0 27012 2 44 N+1 vQ 650 31.0 45.0
37 54 3NS+1 &3 430 410 350(13 1 44 N-2 vA -200 38.0 38.0|13 1 44 N+1 vQ 650 31.0 45.0
43 48 3NN +1 vJ 430 41.0 35.0(20 71 44 N-2 vK -200 38.0 38.0(14 77 44 N+1 &6 650 31.0 45.0
50 41 3NN+1 & 430 41.0 35.0|37 54 44 N-2 vA -200 38.0 38.0|18 73 44 N+1 vQ 650 31.0 45.0
68 23 3NS+1 &4 430 41.0 35.0(|38 53 44DN-1 vA -200 38.0 38.0|24 67 44 N+1 &4 650 31.0 45.0
75 16 3NN+1 &2 430 41.0 35.0(39 52 44 N-2 vA -200 38.0 38.0(27 64 44 N+1 vQ 650 31.0 45.0
78 7 3NS+1 &3 430 41.0 35.0|55 36 44 N-2 vA -200 38.0 38.0|29 62 44 N+1 vQ 650 31.0 45.0
12 2 4v N= &5 420 24.0 52.0(61 30 4e N-2 vA -200 38.0 38.0|31 60 44 N+1 vQ 650 31.0 45.0
14 77 4v S= v5 420 24.0 52.0|68 23 44 N-2 vA -200 38.0 38.0(32 59 44 N+1 vQ 650 31.0 45.0
17 74 4y N= & 420 240 52.0(72 19 44 N-2 vA -200 38.0 38.0|33 58 44 N +1 vQ 650 31.0 45.0
32 59 4v N= v9 420 240 52.0| 3 11 4 N-3 vA -300 27.0 49.0|38 53 54 N= vQ 650 31.0 45.0
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33 58 4v N= *] 420 240 52.0|50 41 44 N-3 vK -300 27.0 49.0|43 48 54 N= vQ 650 31.0 45.0
34 57 4v S= v8 420 240 52.0|31 60 44DN-2 vA -500 23.0 53.0|47 44 44 N+1 vQ 650 31.0 45.0
35 56 4v N= LN 420 240 52.0(42 49 44DN-2 ©vA -500 23.0 53.0|51 40 44 N+1 vQ 650 31.0 45.0
39 52 4y N= »5 420 240 52.0(15 76 4v O= *] -620 17.0 59.0 |55 36 4v N+1 vQ 650 31.0 45.0
45 46 4v S= *4 420 24.0 52.0(24 67 4v O= aA -620 17.0 59.0 |61 30 44 N+1 vQ 650 31.0 45.0
47 44 4v N= &5 420 240 52.0(63 28 4v O= »8 -620 17.0 59.0|63 28 54 N= vQ 650 31.0 45.0
55 36 4v N= v] 420 240 52.0|65 26 4y O = »8 -620 17.0 59.0 |66 25 44 N+1 vQ 650 31.0 45.0
31 60 3NS= »4 400 12.0 64.0({66 25 3vDO = »8 -730 12.0 64.0|68 23 44 N +1 vQ 650 31.0 45.0
69 22 2v N+1 LN 140 10.0 66.0|12 2 4vDV= & K -790 7.0 69.0|75 16 44 N+1 vQ 650 31.0 45.0
311 4vS-1 vT -50 4.0 72.0|45 46 4¢vDO= aA -790 7.0 69.0|78 7 44 N+1 vQ 650 31.0 450
4 10 4v N-1 *] -50 4.0 72.0|51 40 4vyDO= a A -790 7.0 69.0|17 74 3NN +1 *7 630 6.0 70.0
24 67 4v N-1 LN -50 4.0 72.0|69 22 4¢vDO= aA -790 7.0 69.0| 3 11 64 N-1 vQ -100 2.0 74.0
27 64 4v S-1 v9 -50 4.0 72.0| 4 10 44aDN-3 YA -800 2.0 74.0|35 56 64 N-1 vQ -100 2.0 74.0
63 28 3NN-1 »4 50 4.0 72.0| 6 8 3vyDO+1 %8 -930 0.0 76.0|65 26 64 N-1 vQ -100 2.0 74.0
22 « ED862 23 « EK10876 24 4« Kn9642
Ost vD2 Syd v 85 Vast vE4
oV + KKn103 Alla ¢ 1052 Ingen 4975
D8 &E6 &ED9
4Kn43 &K & Kn52 4 D94 487 a K
vK103 v EKn87 va vE10973 vD9 v KKn105
+ D952 ¢+ E86 + ED93 +64 ¢ EKn1064 ¢ KD82
#1093 &Kn6542 #Kn10953 %872 #Kn1042 #8765
410975 43 « ED1053
v 9654 v KDKn62 v 87632
*74 ¢ KKn87 +3
&»EK7 &#KD4 *K3
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
32 61 4¢DO-4 &A 1100 76.0 0.0[32 61 3NN +2 LN 660 750 10| 7 9 34DN+2 K 730 76.0 0.0
38 55 34DN+2 +¢6 730 740 2.0(62 31 3NS+2 *3 660 75.0 10| 5 11 44 S+2 *] 480 62.0 14.0
64 29 34D O-2 ¢4 500 720 4.0(19 74 3NS+1 LN 630 67.0 90|14 2 44 N+2 »8 480 62.0 14.0
5 11 34 N+2 »2 200 60.0 16.0 30 63 3NN +1 LN 630 67.0 9.0(18 75 44 S+2 vQ 480 62.0 14.0
6 10 24 N+3 »5 200 60.0 16.0 |51 42 3NS+1 *] 630 67.0 9.0(19 74 44 N+2 »8 480 62.0 14.0
18 75 24 N+3 »2 200 60.0 16.0 |66 27 3NS+1 LN 630 67.0 9.0(39 54 44 N+2 &5 480 62.0 14.0
21 72 24 N+3 »2 200 60.0 16.0|70 23 3NS+1 LN 630 67.0 9.0(43 50 44 N+2 »8 480 62.0 14.0
34 59 24 N +3 ¢ A 200 60.0 16.0|71 22 3NS+1 *] 630 67.0 9.0|46 47 44 N+2 »8 480 62.0 14.0
39 54 34 N+2 +8 200 60.0 16.0| 4 12 3NN= vT 600 46.0 30.0 |51 42 44 N+2 8 480 62.0 14.0
44 49 24 N +3 »2 200 60.0 16.0(14 2 3NS= &T 600 46.0 30.0|64 29 44 N+2 *6 480 62.0 14.0
41 52 34 N+2 »2 200 60.0 16.0(21 72 3NS= *] 600 46.0 30.0|66 27 44 S+2 vQ 480 62.0 14.0
66 27 24 N +3 &5 200 60.0 16.0(28 65 3NS= LN 600 46.0 30.0|69 24 44 N+2 &7 480 62.0 14.0
67 26 24 N +3 »2 200 60.0 16.0 |35 58 3NS= LN 600 46.0 30.0|71 22 44 N+2 »8 480 62.0 14.0
78 8 24 N+3 »2 200 60.0 16.0(39 54 3NS= »5 600 46.0 30.0|76 17 44 S+2 a7 480 62.0 14.0
14 2 24 N+2 *A 170 40.0 36.0|40 53 3NS= +3 600 46.0 30.0| 6 10 44 S+1 ¢A 450 34.0 42.0
30 63 34 N+1 »3 170 40.0 36.0|44 49 3NS= LN 600 46.0 30.0|13 3 44 S+1 ¢ A 450 34.0 42.0
36 57 24 N+2 »2 170 40.0 36.0|46 47 3NS= *] 600 46.0 30.0|15 1 54 N= ¢+ K 450 34.0 42.0
43 50 24 N +2 *6 170 40.0 36.0|48 45 3NS= LN 600 46.0 30.0|28 65 44 N+1 ¢+ K 450 34.0 42.0
48 45 34 N +1 »2 170 40.0 36.0|41 52 3NS= LN 600 46.0 30.0|30 63 44 N+1 +K 450 34.0 42.0
51 42 34 N+1 ¢ A 170 40.0 36.0|67 26 3NS= *] 600 46.0 30.0|32 61 44 N+1 +K 450 34.0 42.0
56 37 34 N+1 *2 170 40.0 36.0|73 20 3NS= LN 600 46.0 30.0|33 60 44 N+1 ¢+ K 450 34.0 42.0
62 31 24 N+2 ¢A 170 40.0 36.0|76 17 3NS= +3 600 46.0 30.0|34 59 44 N+1 +K 450 34.0 42.0
76 17 24 N +2 ¢ A 170 40.0 36.0|78 8 3NS= *] 600 46.0 30.0|35 58 44 N+1 +K 450 34.0 42.0
7 9 24 N+1 »2 140 27.0 49.0(34 59 24 N +1 &5 140 30.0 46.0(44 49 44 N+1 ¢+ K 450 34.0 42.0
33 60 24 N+1 »2 140 27.0 490| 6 10 3NS-1 LN -100 26.0 50.0 |48 45 44 N+1 +K 450 34.0 42.0
70 23 34 N= »2 140 27.0 49.0|36 57 44 N-1 +6 -100 26.0 50.0 |41 52 44 N+1 +K 450 34.0 42.0
73 20 24 N+1 +6 140 27.0 49.0(43 50 3NS-1 LN -100 26.0 50.0 |56 37 44 N+1 ¢+ K 450 34.0 42.0
4 12 24 N= LY 110 150 61.0(15 1 3NS-2 LN -200 19.0 57.0|67 26 44 N+1 +K 450 34.0 42.0
13 3 24 N= vA 110 15.0 61.0(25 68 24 N-2 *2 -200 19.0 57.0|73 20 44 N+1 +K 450 34.0 42.0
15 1 24 N= »2 110 15.0 61.0(33 60 3NS-2 LN -200 19.0 57.0|36 57 4v S= »6 420 18.0 58.0
25 68 24 N= »2 110 15.0 61.0(38 55 44 N-2 +5 -200 19.0 57.0|16 77 34 N+3 &3 230 12.0 64.0
28 65 24 N= »2 110 15.0 61.0( 5 11 44 N-3 +6 -300 7.0 69.0|25 68 34 S+3 vQ 230 12.0 64.0
35 58 24 N= »2 110 150 610 7 9 44 N-3 +6 -300 7.0 69.0|38 55 34 S+3 LN 230 12.0 64.0
46 47 24 N= »2 110 150 61.0(13 3 3NS-3 LN -300 7.0 69.0|40 53 34 S+3 vQ 230 12.0 64.0
69 24 24 N= »5 110 15.0 61.0(16 77 44 N-3 »7 -300 7.0 69.0|78 8 34 S+3 vQ 230 12.0 64.0
16 77 24 N-1 &3 -50 4.0 72.0|18 75 44 N-3 &8 -300 7.0 69.0| 4 12 34 N+2 +K 200 40 72.0
19 74 44 N-1 *6 -50 4.0 72.0|56 37 44 N-3 +6 -300 7.0 69.0|62 31 24 N+3 +K 200 40 72.0
71 22 24 N-1 »2 -50 4.0 72.0|64 29 44 N-3 +6 -300 7.0 69.0|70 23 34 N+2 +K 200 4.0 72.0
40 53 34 S-3 ¢+5 -150 0.0 76.0|69 24 64 N-3 2 -300 7.0 69.0|21 72 4¢ V-1 a2 50 0.0 76.0
25 4 7653 26 41087 27 a7
Nord v 87 Ost v EKn5 Syd vKD103
ov ¢ DKn92 Alla ¢ E752 Ingen ¢ EKDKN1072
»K64 #DKn10 &6
4KD102 4 EKn4 4 D32 & K95 41064 « EDKn83
vEKn63 vKD2 v K73 v 10984 vE9 v 765
¢ E103 +8654 4 K108643 ¢ 9 ¢43 + 96
&»E7 #Kn102 *3 *K8762 #KKn8732 #D54
498 & EKn64 4« K952
v 10954 v D62 v Kn842
* K7 ¢ DKn +85
#D9853 #E954 #E109
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
67 28 6N O -2 49 200 760 00| 6 12 3¥yxDO-6 +Q 1700 76.0 00(14 4 54DO-5 +8 1100 76.0 0.0
47 48 1INV +3 +Q -180 740 20|39 56 2¢DV-4 #Q 1100 740 20|71 24 44DO-3 ¢5 500 740 2.0
5 13 3NO+1 vT -630 37.0 39.0|15 3 3NS+3 +8 690 67.0 90| 5 13 4v S+2 2 480 65.0 11.0
6 12 3NO+1 *3 -630 37.0 39.0|17 1 3NS+3 +3 690 67.0 90|16 2 4y N+2 LY 480 65.0 11.0
7 11 3NO+1 »5 -630 37.0 39.0(40 55 3NN +3 +9 690 67.0 9.0(20 75 4v N+2 *4 480 65.0 11.0
8 10 3NO +1 2 -630 37.0 39.0|44 51 3N S+3 +8 690 67.0 9.0(37 58 5v N +1 &3 480 65.0 11.0
14 4 3NO+1 vT -630 37.0 39.0|53 42 3NS+3 4Q 690 67.0 9.0(49 46 4v N+2 v5 480 65.0 11.0
15 3 3NO+1 *3 -630 37.0 39.0|68 27 3N S+3 +4 690 67.0 9.0|70 25 4v N+2 2 480 65.0 11.0
16 2 3NV+1 +Q -630 37.0 39.0| 5 13 3NS+2 +6 660 58.0 18.0|72 23 4v N +2 LY 480 65.0 11.0
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17 1 3NO+1 &5 -630 37.0 39.0|26 69 3N S +2 +6 660 58.0 18.0|77 18 4v N+2 v2 480 65.0 11.0
19 76 3NV +1 43 -630 37.0 39.0(33 62 3NN +2 &2 660 58.0 18.0| 7 11 4v N+1 aA 450 44.0 32.0
20 75 3NO +1 &5 -630 37.0 39.0|19 76 44 S+1 &3 650 54.0 22.0|15 3 4v S+1 »8 450 440 32.0
22 73 3NO +1 &3 -630 37.0 39.0| 8 10 3NS+1 *4 630 45.0 31.0|19 76 5v S= 45 450 44.0 32.0
26 69 3NO +1 49 -630 37.0 39.0(34 61 3NS+1 6 630 45.0 31.0(26 69 4v N+1 aA 450 44.0 32.0
29 66 3NV +1 +Q -630 37.0 39.0|45 50 3NS+1 +6 630 450 31.0(35 60 4v N+1 aA 450 440 32.0
31 64 3NO+1 &3 -630 37.0 39.0|49 46 3NS+1 v3 630 45.0 31.0|40 55 5v S= a4 450 44.0 32.0
33 62 3NV +1 a5 -630 37.0 39.0|57 38 3NS+1 v3 630 45.0 31.0(41 54 4v S+1 +3 450 44.0 32.0
34 61 3NV +1 46 -630 37.0 39.0(65 30 3NN +1 &4 630 450 31.0(44 51 4v N+1 aA 450 440 32.0
35 60 3NO +1 &3 -630 37.0 39.0|67 28 3NS+1 *4 630 45.0 31.0|45 50 4v S+1 a4 450 44.0 32.0
36 59 3NV +1 a7 -630 37.0 39.0|{78 9 3NS+1 v3 630 45.0 31.0 (47 48 4vy N+1 aA 450 44.0 32.0
37 58 3NO +1 49 -630 37.0 39.0| 7 11 3NN= +9 600 23.0 53.0|67 28 4v S+1 +3 450 440 32.0
39 56 3NO +1 49 -630 37.0 39.0({14 4 3NS= +3 600 23.0 53.0|68 27 4v N +1 aA 450 44.0 32.0
40 55 3NV +1 +Q -630 37.0 39.0{16 2 3NN= »2 600 23.0 53.0(78 9 4v N+1 aA 450 44.0 32.0
41 54 3NV +1 +Q -630 37.0 39.0|20 75 3NN= +9 600 23.0 53.0|57 38 3NS+1 a4 430 30.0 46.0
44 51 3NO+1 ¢+ K -630 37.0 39.0|29 66 3NS= +6 600 23.0 53.0| 6 12 3NS= aT 400 21.0 55.0
45 50 3NV +1 a7 -630 37.0 39.0(31 64 3NS= +6 600 23.0 53.0| 8 10 5¢ N= v6 400 21.0 55.0
49 46 3NO+1 &5 -630 37.0 39.0|37 58 3NS= +6 600 23.0 53.0|122 73 3NS= a4 400 21.0 55.0
52 43 3NV +1 a7 -630 37.0 39.0(41 54 3NS= 2 600 23.0 53.0|31 64 5¢ N= v6 400 21.0 55.0
53 42 3N O +1 &8 -630 37.0 39.0|52 43 3NS= +6 600 23.0 53.0(36 59 3NS= 43 400 21.0 55.0
57 38 3NO +1 vT -630 37.0 39.0|70 25 3NN= vT 600 23.0 53.0|52 43 5¢ N= +9 400 21.0 55.0
63 32 4NO= *3 -630 37.0 39.0|71 24 3NN= +9 600 23.0 53.0|63 32 5¢ N= &4 400 21.0 55.0
68 27 3NO +1 »3 -630 37.0 39.0|72 23 3NS= *4 600 23.0 53.0|65 30 5¢ N= #3 400 21.0 55.0
70 25 3NV +1 v8 -630 37.0 39.0|74 21 3NS= +6 600 23.0 53.0|29 66 3¢ N +2 v7 150 11.0 65.0
71 24 3NO+1 &5 -630 37.0 39.0|77 18 3NN= vT 600 23.0 53.0|33 62 3¢ N+2 s A 150 11.0 65.0
72 23 3NV +1 &4 -630 37.0 39.0(35 60 INS+4 *4 210 8.0 68.0|34 61 24D O-1 8 100 8.0 68.0
74 21 3NO+1 &5 -630 37.0 39.0|63 32 INN+2 vT 150 6.0 70.0(53 42 3NS-1 a4 -50 5.0 71.0
77 18 3NO +1 v9 -630 37.0 39.0{22 73 3NN-1 v9 -100 2.0 74074 21 6v S-1 a2 -50 5.0 71.0
78 9 3NO+1 &2 -630 37.0 39.0(36 59 3NS-1 *4 -100 20 740|117 1 6vyDN-1 aA -100 2.0 740
65 30 3NV +2 &4 -660 0.0 76.0(47 48 3NS-1 +6 -100 20 74.0(39 56 3NS-3 &3 -150 0.0 76.0
28 « KD10 29 4 K653 30 « D109862
Vast v 1094 Nord vE53 Ost v 106
NS ¢+ K Alla 4952 Ingen + 104
#ED9873 #D63 #1084
& E983 4« Kn64 « D104 & Kn2 aKn75 43
vE5 v 8632 v D106 v K8 v94 v EKn752
¢ EKn1098 ¢ D74 ¢ K43 + EDKn106 ¢ E763 ¢ KD82
#Kn6 #1054 #KKn102 #8754 #EK96 #Kn32
4752 « E987 « EK4
v KDKn7 v Kn9742 vKD83
46532 + 87 ¢ Kn95
»K2 &E9 D75
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
23 74 2¢DO-6 #K 1400 76.0 00|20 77 3NV-2 a5 200 73.0 3.0|/40 57 24DN+1 K 570 75.0 1.0
8 12 4v S= 43 620 70.0 6.0|34 63 3NV-2 v5 200 73.0 3.0|53 44 24aDN+1 +¢A 570 75.0 1.0
32 65 4y N= s A 620 700 6.0(66 31 3NV-2 a3 200 730 30| 9 11 24DN= 3 470 69.0 7.0
35 62 4y S= vA 620 700 6.0(78 10 3NV-2 a5 200 73.0 3.0|37 60 24DN= ¢+ K 470 69.0 7.0
38 59 4v S= ¢ A 620 700 6.0|35 62 24 N= &8 110 68.0 8.0|45 52 24aDN= vA 470 69.0 7.0
46 51 4v S= s A 620 700 6.0 7 13 3¢ O-1 A 100 59.0 17.0|78 10 24DN= +K 470 69.0 7.0
16 4 3¢4DV-2 vT 300 64.0 120| 8 12 2NV-1 *Q 100 59.0 17.0|17 3 34 N= vA 140 64.0 12.0
66 31 2v S+3 +J 200 62.0 140|118 2 3#V-1 +9 100 59.0 17.0|38 59 24 N= * K 110 61.0 15.0
45 52 3# N +2 *4 150 60.0 16.0(21 76 INV-1 v5 100 59.0 17.0|72 25 24 N= ¢+ Q 110 61.0 15.0
27 70 3v S= LN 140 56.0 20.0(23 74 3NV-1 a5 100 59.0 17.0| 8 12 5¢ O-2 ¢+5 100 53.0 23.0
40 57 2v S+1 ¢ A 140 56.0 20.0|36 61 3¢ O-1 +8 100 59.0 17.0|32 65 3vDO-1 &2 100 53.0 23.0
78 10 3y S= ¢ A 140 56.0 20.0 (58 39 3NV-1 3 100 59.0 17.0|34 63 4a V-2 *T 100 53.0 23.0
7 13 2# N +2 +4 130 46.0 30.0|64 33 3¢ O-1 A 100 59.0 17.0(42 55 3NV -2 49 100 53.0 23.0
50 47 3 N+1 2 130 46.0 30.0( 6 14 Pass 43.0 33.0|50 47 3NV-2 a2 100 53.0 23.0
53 44 3& N+1 ¢ 7 130 46.0 30.0|32 65 Pass 43.0 33.0(71 26 4v O-2 & K 100 53.0 23.0
54 43 4& N= +4 130 46.0 30.0|38 59 Pass 43.0 33.0|16 4 2NV-1 aT 50 43.0 33.0
69 28 2& N +2 +Q 130 46.0 30.0 (42 55 Pass 43.0 33.0|18 2 5¢ O-1 +8 50 43.0 33.0
71 26 3& N+1 &4 130 46.0 30.0 |45 52 Pass 43.0 33.0|120 77 2NO-1 »2 50 43.0 33.0
72 25 3& N+1 +4 130 46.0 30.0|68 29 Pass 43.0 33.0|21 76 3NV-1 ¢+4 50 43.0 33.0
6 14 3¢ O-2 &K 100 33.0 43.0|69 28 Pass 43.0 33.0( 7 13 34 N-1 ¢+ K -50 37.0 39.0
9 11 3¢ V-2 vT 100 33.0 43.0|73 24 Pass 43.0 33.0|35 62 34 S-1 &A -50 37.0 39.0
36 61 3¢ V-2 vT 100 33.0 430| 1 19 INO= 43 -90 32.0 44.0|41 56 3¢ O= &K -110 31.0 45.0
37 60 INV-2 &5 100 33.0 430| 9 11 INO= va -90 32.0 44.0|66 31 3 V= *T -110 31.0 45.0
58 39 3¢ V-2 vT 100 33.0 43.0|27 70 28V = a5 -90 32.0 44.0|68 29 3¢ O= s A -110 31.0 45.0
64 33 3¢ V-2 vT 100 33.0 430(16 4 24 N-1 ¢ A -100 25.0 51.0|75 22 3¢ V= vT -110 31.0 45.0
18 2 3¢ V-1 vT 50 23.0 53.0|17 3 2vS-1 a4 -100 250 51.0| 6 14 3¢ O+1 aA -130 19.0 57.0
20 77 3¢ V-1 v9 50 23.0 53.0|40 57 2v S-1 +3 -100 25.0 51.0|23 74 3¢ O+1 aA -130 19.0 57.0
68 29 INV-1 »8 50 23.0 53.0|41 56 24 S-1 2 -100 25.0 51.0|30 67 4¢ O= s A -130 19.0 57.0
75 22 2¢ V-1 A 50 23.0 53.0|30 67 3« 0= v2 -110 20.0 56.0 |46 51 3¢ O +1 aA -130 19.0 57.0
21 76 2¢ V= A 90 16.0 60.0|15 5 INV+1 3 -120 15.0 61.0|48 49 3¢ O +1 +5 -130 19.0 57.0
30 67 INV= »8 -90 16.0 60.0|37 60 2NV = 43 -120 15.0 61.0|64 33 4¢ O= aT -130 19.0 57.0
42 55 1¢ V+1 vT -90 16.0 60.0|48 49 2NV = a3 -120 150 61.0|69 28 4¢ O= aA -130 19.0 57.0
119 3vS-1 *6 -100 10.0 66.0|71 26 1INV +1 43 -120 150 61.0|73 24 4¢ O= ¢+5 -130 19.0 57.0
17 3 3vS-1 s A -100 10.0 66.0 |54 43 2¢ O +2 SA -130 10.0 66.0| 1 19 3¢ O+2 aA -150 8.0 68.0
34 63 4v S-1 ¢A -100 10.0 66.0 |46 51 2NV +1 v3 -150 7.0 69.0|36 61 3¢ O+2 aA -150 8.0 68.0
48 49 2¢ V+1 &K -110 5.0 71.0|53 44 1INV +2 a5 -150 7.0 69.0(54 43 3¢ O+2 aA -150 8.0 68.0
73 24 2¢ V+1 &K -110 5.0 71.0|72 25 3v S-2 +3 -200 3.0 73.0(15 5 34DN-2 ¢+ K -300 3.0 73.0
15 5 3NS-2 *T -200 1.0 75.0|75 22 34 N-2 &5 -200 3.0 73.0|58 39 34DN-2 *+ K -300 3.0 73.0
41 56 3NN-2 2 -200 1.0 75.0|50 47 3NV= a5 -600 0.0 76.0(27 70 3¢4DO+1 &A -570 0.0 76.0
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& K62 498 « DKn872
v 842 v D632 vED106
4963 ¢ 542 ¢ E52
&E1082 #8753 &2
4 EDKNn8 4973 aKKn2 & E6543 41064 & EK53
vEKDKn 73 v 84 v EKKn95 vK v 87
+8 + KDKn1072 + E86 ¢- + KD1086 ¢ Kn974
&#KD63  #Kn5 &#ED942 #Knl06 &#Knl1087 #»E95
41054 « D107 49
v 10965 v 107 v Kn95432
¢ E54 ¢ KDKn10973 +3
974 &K #KD643
Kontr Ut Res Poang Kontr Ut Res Poang Kontr Ut Res Poang
6% V-2 a3 100 750 1.0 6NV -2 *2 200 76.0 0.0 6DV -4 &2 800 76.0 0.0
6NV -2 v8 100 75.0 1.0 4y O -1 +K 100 740 20 49yDN+2 ¢7 790 72.0 4.0
5¢ O-1 LY 50 65.0 11.0 3NV +1 +2 -630 72.0 4.0 A4vyDN+2 &A 790 720 4.0
5¢ O-1 a5 50 65.0 11.0 5v O = +K -650 70.0 6.0 49yDN+2 v4 790 720 4.0
ANV -1 &2 50 65.0 11.0 4a O +2 *2 -680 63.0 13.0 S5yDN+1 ¢J 750 68.0 8.0
6NV -1 +9 50 65.0 11.0 4e V 42 +2 -680 63.0 13.0 A49yDN+1 7 690 65.0 11.0
6y V-1 v2 50 65.0 11.0 54 O +1 +K -680 63.0 13.0 49yDN+1 o7 690 65.0 11.0
6N O -1 v3 50 65.0 11.0 44 O +2 &K -680 63.0 13.0 4v N +2 s A 480 61.0 15.0
5¢ O-1 a5 50 65.0 11.0 44 O +2 +K -680 63.0 13.0 4y N +2 v8 480 61.0 15.0
6¢ O-1 vT 50 65.0 11.0 44 O +2 +K -680 63.0 13.0 4v N +1 s A 450 35.0 41.0
5¢ O= *A -400 56.0 20.0 44 O +3 +K -710 50.0 26.0 4v N +1 &A 450 35.0 41.0
4y V = v4 -420 54.0 22.0 54 O +2 +K -710 50.0 26.0 4y N +1 &A 450 35.0 41.0
3NV +1 LX) -430 37.0 39.0 44 O +3 +K -710 50.0 26.0 4v N +1 v8 450 35.0 41.0
3NV +1 &2 -430 37.0 39.0 44 O +3 +K -710 50.0 26.0 4v N +1 &A 450 35.0 41.0
3N O +1 v2 -430 37.0 39.0 4e V +3 &8 -710 50.0 26.0 4y N +1 s A 450 35.0 41.0
3NV +1 v8 -430 37.0 39.0 44 V 43 *2 -710 50.0 26.0 4v N +1 &A 450 35.0 41.0
ANV = v4 -430 37.0 39.0 44 O +3 +K -710 50.0 26.0 4v N +1 v3 450 35.0 41.0
3NV +1 &8 -430 37.0 39.0 3NV +4 +5 -720 42.0 34.0 4v S +1 +K 450 35.0 41.0
3NV +1 LX) -430 37.0 39.0 5¢DS-4 v9 -800 39.0 37.0 4v N +1 &K 450 35.0 41.0
3NV +1 v2 -430 37.0 39.0 5¢DS-4 &A -800 39.0 37.0 4v N +1 +K 450 35.0 41.0
3NV +1 &2 -430 37.0 39.0 6% O +1 +K -1390 35.0 41.0 4y N +1 v7 450 35.0 41.0
3NV +1 v8 -430 37.0 39.0 64 O +1 +K -1390 35.0 41.0 4v S +1 +K 450 35.0 41.0
3NV +1 +3 -430 37.0 39.0 7¢DS -6 & K -1400 31.0 45.0 4v N +1 &A 450 35.0 41.0
ANV = &2 -430 37.0 39.0 64D S -6 v8 -1400 31.0 45.0 4y N +1 +5 450 35.0 41.0
3NV +1 a2 -430 37.0 39.0 64 O = +K -1430 25.0 51.0 4v N +1 *7 450 35.0 41.0
3NV +1 &8 -430 37.0 39.0 6y O= +K -1430 25.0 51.0 4v N +1 v8 450 35.0 41.0
3NV +1 v8 -430 37.0 39.0 6e V= &8 -1430 25.0 51.0 4v S +1 +K 450 35.0 41.0
3NV +1 a3 -430 37.0 39.0 6y V= *2 -1430 25.0 51.0 4v S +1 +K 450 35.0 41.0
3NV +2 v2 -460 10.0 66.0 6e V +1 *2 -1460 11.0 65.0 4v S +1 +K 450 35.0 41.0
3NV +2 &2 -460 10.0 66.0 64 O +1 +K -1460 11.0 65.0 4y N +1 v8 450 35.0 41.0
3NV +2 LX) -460 10.0 66.0 64 V +1 +5 -1460 11.0 65.0 4v S +1 +K 450 35.0 41.0
3N O +2 &8 -460 10.0 66.0 6e V +1 +5 -1460 11.0 65.0 4v S +1 +K 450 35.0 41.0
3N O +2 oT -460 10.0 66.0 64 O +1 +K -1460 11.0 65.0 4y N +1 *7 450 35.0 41.0
3NV +2 v2 -460 10.0 66.0 64 O +1 +K -1460 11.0 65.0 4y S = +K 420 10.0 66.0
3NV +2 46 -460 10.0 66.0 6a V +1 *4 -1460 11.0 65.0 56DV -2 &2 300 8.0 68.0
ANV +1 v8 -460 10.0 66.0 6a V +1 +2 -1460 11.0 65.0 3v S+2 +K 200 5.0 71.0
3NV +2 &2 -460 10.0 66.0 64 V +1 *4 -1460 11.0 65.0 3v N +2 *7 200 50 71.0
3NV +2 a2 -460 10.0 66.0 6e V +1 *2 -1460 11.0 65.0 la N-1 v8 -50 2.0 74.0
3NV +2 &2 -460 10.0 66.0 7% 0O = +K -2140 0.0 76.0 2¢ V= &2 -90 0.0 76.0
863 «E106 & K32
v EKDKn v EKn10863 v 10752
¢ Kn103 + Kn9 * K7
#1082 &73 D965
492 «D1074 4432 & KDKn75 4ED986 475
v3 v 10865 v 95 vKD74 v8 v Kn43
¢+ EKD42 4976 ¢ KD10765 ¢ - ¢ E10942 ¢ DKn863
S#E7654 93 &E5 #Kn984 &E4 &#KKn8
& EKKn5 498 4 Knl104
v 9742 v2 v EKD96
+ 85 ¢ E8432 +5
&#KDKn #KD1062 10732
Kontr ut Res Poang Kontr ut Res Poang Kontr ut Res Poang
3yDO-5 A 1100 76.0 0.0 3¢DV-4 &7 1100 76.0 0.0 5¢eDV-1 v5 200 76.0 0.0
4vD S = ¢A 790 740 2.0 44D O -3 v2 800 740 20 2y S= &A 110 740 20
4v S = ¢A 620 71.0 5.0 3vDN= &K 530 720 4.0 5¢ V-1 v5 100 66.0 10.0
49 N = &9 620 71.0 5.0 24D O -2 v2 500 70.0 6.0 5¢ V-1 &6 100 66.0 10.0
4¢DV -3 vA 500 68.0 8.0 44 O -4 &K 400 66.0 10.0 5¢ O-1 vA 100 66.0 10.0
5¢D0O-2 s A 300 64.0 12.0 4e V-4 &7 400 66.0 10.0 5¢ V-1 v5 100 66.0 10.0
5¢DO-2 s A 300 64.0 12.0 44 O -4 &K 400 66.0 10.0 5¢ V-1 &6 100 66.0 10.0
5¢DV-2 A 300 64.0 12.0 44 O -3 &K 300 60.0 16.0 5¢ V-1 &9 100 66.0 10.0
3v S+1 ¢A 170 57.0 19.0 34 O-3 vQ 300 60.0 16.0 5¢ V-1 v4 100 66.0 10.0
3v N+1 &9 170 57.0 19.0 34 O-3 v2 300 60.0 16.0 3v N-1 &K -100 57.0 19.0
3v S+1 ¢+ K 170 57.0 19.0 3N O -2 &T 200 50.0 26.0 3v S-1 &A -100 57.0 19.0
3v S+1 ¢A 170 57.0 19.0 34 O0-2 v3 200 50.0 26.0 4¢ V= vT -130 32.0 44.0
2% V-3 vA 150 52.0 24.0 44 O -2 v2 200 50.0 26.0 4¢ O = v3 -130 32.0 44.0
2v N +1 a7 140 44.0 32.0 44 O -2 v2 200 50.0 26.0 3¢ V+1 v5 -130 32.0 44.0
3v S= ¢A 140 440 32.0 34 O0-2 v2 200 50.0 26.0 4e V= v5 -130 32.0 44.0
3v S= *A 140 44.0 32.0 34 0-2 v2 200 50.0 26.0 4e V= v7 -130 32.0 44.0
24 N +1 &9 140 44.0 32.0 44 O -2 v2 200 50.0 26.0 4e V = v5 -130 32.0 44.0
3y N= &9 140 440 32.0 34 O-1 v2 100 38.0 38.0 4¢ O = vA -130 32.0 44.0
3v S= +K 140 44.0 32.0 44 O -1 v2 100 38.0 38.0 3¢ V+1 v4 -130 32.0 44.0
3y N= &9 140 44.0 32.0 24 O-1 v2 100 38.0 38.0 4e V= v5 -130 32.0 44.0
4¢DO-1 s A 100 36.0 40.0 34 O-1 v2 100 38.0 38.0 3¢ V+1 vT -130 32.0 44.0
4v S-1 *A -100 30.0 46.0 3NO-1 &K 100 38.0 38.0 4e V= &6 -130 32.0 44.0
4v S-1 *A -100 30.0 46.0 3v N-1 & K -50 26.0 50.0 3¢ V+1 v5 -130 32.0 44.0
4v S-1 ¢A -100 30.0 46.0 3vy N-1 &K -50 26.0 50.0 4e V= v5 -130 32.0 44.0
2N N -1 *4 -100 30.0 46.0 2v N-1 &K -50 26.0 50.0 4e V= v2 -130 32.0 44.0

BK S:t Erik, Trettondagssilver 2009-01-06, sida 8 av 10




56 45 4v S-1 ¢ A -100 30.0 46.0|19 5 3v N-1 aK -50 26.0 50.0 |47 54 4¢ V= v5 -130 32.0 440
18 6 3¢ O= aA -110 24.0 52.0|40 61 3v N-1 &K -50 26.0 50.0|52 49 4¢ V= v5 -130 32.0 44.0
3 21 4v N-2 +6 -200 13.0 63.0|42 59 3v N-1 &K -50 26.0 50.0|55 46 4¢ V= v5 -130 32.0 44.0
10 14 3NS-2 *A -200 13.0 63.0|47 54 2N S-1 *+ K -50 26.0 50.0|56 45 4¢ V= &6 -130 32.0 440
11 13 3NS-2 *A -200 13.0 63.0|39 62 3¢ S-2 a4 -100 14.0 62.0|68 33 4¢ V= v6 -130 32.0 44.0
17 7 3NS-2 ¢A -200 13.0 63.0|43 58 4v N-2 v4 -100 14.0 62.0(70 31 3¢ V+1 v5 -130 32.0 44.0
23 1 3NS-2 *A -200 13.0 63.0|64 37 3#S-2 a2 -100 14.0 62.0|73 28 4¢ V= v5 -130 32.0 440
29 72 3NS-2 K -200 13.0 63.0|71 30 3% S-2 *+ K -100 14.0 62.0|75 26 3¢ V+1 v2 -130 32.0 44.0
32 69 3NN-2 +K -200 13.0 63.0|74 27 4vy N-2 & K -100 14.0 62.0|78 12 4¢ V= v7 -130 32.0 44.0
36 65 3NS-2 K -200 13.0 63.0|18 6 4¢ S-5 a2 -250 8.0 68.0|77 24 4¢ O+1 v5 -150 8.0 68.0
44 57 3NS-2 *A -200 13.0 63.0|17 7 4vDN-2 &K -300 6.0 70.0(32 69 3vyDN-1 ¢ A -200 5.0 71.0
60 41 3NS-2 ¢A -200 13.0 63.0|29 72 3¢DS-3 a2 -500 2.0 740|164 37 4v S-2 &A -200 5.0 71.0
64 37 3#S-4 &4 -400 2.0 74.0|55 46 3yDN-3 &K -500 20 740| 9 15 5¢ V= &6 -600 2.0 74.0
78 12 4vDS-2 *A -500 0.0 76.0|77 24 3¢DN-3 &K -500 20 74.0|34 67 5¢DV= v5 -750 0.0 76.0
37 «109 38 @- 39 «E5
Nord v 953 Ost vED763 Syd v 6532
NS ¢ KKn109843 ov ¢ E974 Alla + K75
&9 &ED65 &DKn75
4 D6543 4K2 4109732 « D86 4Kn762 &KD83
vE106 v KDKn842 v 954 v 108 v K97 v EKn108
+ E6 .7 + 105 + KKn2 ¢ EKn10 ¢ 32
&#Knl02 &EKD5 K84 #109732 &#EK6 £942
« EKNn87 « EKKn54 41094
v7 v KKn2 v D4
¢ D52 + D863 + D9864
87643 &Kn #1083
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
30 73 64 V-2 +8 100 750 10(24 2 6y N+1 T 1010 720 4.0|10 16 44 V-1 &Q 100 720 4.0
41 62 44 V-2 &9 100 75.0 10|43 60 6v N+1 ¢2 1010 720 4.0|11 15 44 V-1 L o) 100 720 4.0
23 3 4e V-1 29 50 720 4.0|48 55 6v N +1 v8 1010 720 4.0|38 65 44 V-1 *0Q 100 720 4.0
11 15 4e V= ¢+ K -420 70.0 6.0|67 36 6v N+1 vT 1010 720 4.0|40 63 44 V-1 L JO) 100 720 4.0
4 22 4v O+2 +Q -480 52.0 24.0|71 32 6v N+1 ¢2 1010 720 4.0|67 36 44 V-1 L Jo) 100 720 4.0
10 16 4y O +2 *2 -480 52.0 240|10 16 6v S= v5 980 50.0 26019 7 44 V= aA -620 58.0 18.0
19 7 49y O+2 »3 -480 520 240|19 7 6Yy N= LN 980 50.0 26.0|24 2 44 V= &Q -620 58.0 18.0
21 5 4y O+2 2 -480 520 240|21 5 6Yy N= &T 980 50.0 26.0|33 70 44 V= &Q -620 58.0 18.0
26 77 4v O+2 *2 -480 520 240|23 3 6Yy N= &T 980 50.0 26.0|35 68 44 V= aA -620 58.0 18.0
35 68 4v O +2 2 -480 52.0 24.0|30 73 6Y N= v8 980 50.0 26.0|45 58 44 V= &5 -620 58.0 18.0
38 65 4y O +2 2 -480 52.0 24.0|35 68 6vY N= *9 980 50.0 26.0|49 54 44 V= L Jo) -620 58.0 18.0
39 64 4v O +2 *2 -480 52.0 24.0|37 66 6v N= v8 980 50.0 26.0|53 50 44 V= *0Q -620 58.0 18.0
43 60 4v O +2 +Q -480 52.0 24.0|38 65 6Y N= v8 980 50.0 26.0|61 42 44 V= L JO) -620 58.0 18.0
44 59 4v O +2 2 -480 52.0 24.0|39 64 6v N= +5 980 50.0 26.0|78 13 44 V= +3 -620 58.0 18.0
45 58 4v O +2 *2 -480 52.0 24.0|40 63 6v N= vT 980 50.0 26.0{23 3 3NO+1 aT -630 46.0 30.0
49 54 4v O +2 2 -480 52.0 24.0|49 54 6y N= &T 980 50.0 26.0|69 34 3NV +1 &5 -630 46.0 30.0
53 50 4y O +2 2 -480 52.0 24.0|53 50 6v N= *9 980 50.0 26.0|72 31 3NV +1 v3 -630 46.0 30.0
67 36 4v O +2 *2 -480 52.0 24.0|56 47 6v N= &T 980 50.0 26.0| 1 25 44 O+1 +6 -650 21.0 55.0
72 31 5v O+1 2 -480 52.0 24.0|57 46 6¥Y N= &T 980 50.0 26.0| 4 22 44 V+1 L JO) -650 21.0 55.0
75 28 4y O +2 +3 -480 52.0 24.0|72 31 6y N= &T 980 50.0 26.0| 9 17 44 V+1 v3 -650 21.0 55.0
76 27 5v O+1 *2 -480 52.0 24.0|75 28 6vy N= &T 980 50.0 26.0(12 14 44 V+1 v6 -650 21.0 55.0
125 6vV= 29 -980 17.0 59.0|76 27 6¥ N= &T 980 50.0 26.0(18 8 4a V+1 v6 -650 21.0 55.0
9 17 6v O= +Q -980 17.0 59.0|20 6 6¢ S= *T 920 30.0 46.0|/20 6 44 V+1 +5 -650 21.0 55.0
12 14 6v O= +5 -980 17.0 59.0|26 77 64 S= 8 920 30.0 46.0(21 5 44 V+1 v3 -650 21.0 55.0
18 8 6v O= »8 -980 17.0 59.0|74 29 64 S= &4 920 30.0 46.0(26 77 4a V+1 &) -650 21.0 55.0
20 6 6v O= *2 -980 17.0 59.0|(18 8 5v N+2 2 510 26.0 50.0|30 73 44 V+1 v3 -650 21.0 55.0
24 2 6y V= aA -980 17.0 59.0| 1 25 4v N+2 &2 480 21.0 55.0(37 66 44 V+1 vl] -650 21.0 55.0
33 70 6y O= »8 -980 17.0 59.0| 9 17 4v N+2 29 480 21.0 55.0(39 64 4s V+1 v3 -650 21.0 55.0
37 66 6y O= +3 -980 17.0 59.0 |11 15 4v S+2 &T 480 21.0 55.0|41 62 44 V+1 v3 -650 21.0 55.0
40 63 6v O = *2 -980 17.0 59.0|12 14 4v N+2 &T 480 21.0 55.0(43 60 44 V+1 *0Q -650 21.0 55.0
48 55 6v O = aA -980 17.0 59.0|61 42 4v N +1 vT 450 16.0 60.0 |44 59 4 V+1 v2 -650 21.0 55.0
51 52 6v O= v7 -980 17.0 59.0| 4 22 6NN-1 48 -50 8.0 68.0(48 55 44 V +1 L Jo) -650 21.0 55.0
56 47 6y O= *2 -980 17.0 59.0 |41 62 64 N-1 vT -50 8.0 68.0|51 52 44 V+1 ¢+5 -650 21.0 55.0
57 46 6v O= aA -980 17.0 59.0|44 59 7v N-1 vT -50 8.0 68.0|56 47 44 V +1 v2 -650 21.0 55.0
61 42 6v O= *2 -980 17.0 59.0|45 58 7v N-1 v8 -50 8.0 68.0 |57 46 44 V+1 v3 -650 21.0 55.0
69 34 6y O= .7 -980 17.0 59.0|51 52 7v N-1 &T -50 8.0 68.0|71 32 44 V+1 LN -650 21.0 55.0
71 32 6y O= +5 -980 17.0 59.0|69 34 44 S-1 &4 -50 8.0 68.0|74 29 4e V +1 v6 -650 21.0 55.0
74 29 6y O= *2 -980 17.0 59.0|78 13 6¥ N-1 v8 -50 8.0 68.0(75 28 44 V+1 L Jo) -650 21.0 55.0
78 13 6y O= &5 -980 17.0 59.0|33 70 6v N-2 vT -100 0.0 76.0 (76 27 44 V+1 v6 -650 21.0 55.0
40 & KKn93 41 « EKn1087 42 410864
Vast vE7 Nord v10 Ost vD9
Ingen ¢ EKn92 ov + DKn1085 Alla 4932
£976 £95 &EKN84
& EB2 4 D10765 464 a2 4DKn732 &E5
vKKn652 vD9 vYEKn75 32 v E83 v 1065
+ K84 .7 + K96 ¢ E42 ¢ E + DKn1074
#EK #DKn1032 #DKn43 #EK108762 #9752 2#KD6
a4 « KD953 4 K9
v 10843 v KD9864 v KKn742
+ D10653 +73 + K865
#3854 &»- 103
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 17 64D0O-2 3 300 740 20|20 8 54DS= &Q 650 75.0 10|45 60 3¢ O-3 va 300 740 20
44 61 44DO-2 o7 300 740 20|76 29 54DS= &Q 650 75.0 10|46 59 3NV-3 vQ 300 74.0 20
76 29 44DO-2 2 300 740 20|11 17 54 S= a7 450 71.0 5.0(49 56 34 V-3 a4 300 740 20
62 43 3NV-3 +9 150 70.0 6.0|42 63 44 N+1 A 450 710 50|10 18 44 O-2 vQ 200 63.0 13.0
12 16 3NV -2 ¢ A 100 65.0 11.0|13 15 44 N= SA 420 66.0 10.0|21 7 3¢ O-2 &T 200 63.0 13.0
25 3 3vV-2 *6 100 65.0 11.0|49 56 44 N= A 420 66.0 10.0(24 4 44 V-2 vQ 200 63.0 13.0
41 64 3v V-2 aJ 100 65.0 11.0|72 33 44 N= &A 420 66.0 10.0|34 71 2# V-2 vQ 200 63.0 13.0
42 63 4v V-2 »6 100 65.0 11.0|31 74 6% O -2 &K 200 62.0 14.0|40 65 44 V-2 vQ 200 63.0 13.0
5 23 44 V-1 *6 50 56.0 20.0|12 16 54 N-1 *A -50 53.0 23.0|44 61 3¢ O-2 &3 200 63.0 13.0
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44 O -1 *7 50 56.0 20.0|24 4 54 S-1 *Q -50 53.0 23.0|50 55 3NV-2 vQ 200 63.0 13.0
44 O -1 +3 50 56.0 20.0|25 3 54 N-1 *A -50 53.0 23.0|54 51 34 O-2 vQ 200 63.0 13.0
44 O -1 &4 50 56.0 20.0|27 1 54 S-1 *0Q -50 53.0 23.0| 5 23 24 V-1 46 100 48.0 28.0
44 O -1 +3 50 56.0 20.0 |41 64 54 N-1 *Q -50 53.0 23.0|25 3 2¢ O-1 &T 100 48.0 28.0
INV= ¢2 -90 50.0 26.0|46 59 54 N-1 A -50 53.0 23.0|31 74 3NO-1 v2 100 48.0 28.0
24 O +1 +3 -140 47.0 29.0|58 47 54 N-1 &A -50 53.0 23.0|38 67 2NO-1 vQ 100 48.0 28.0
34 O= 2 -140 47.0 29.0|68 37 54 N-1 SA -50 53.0 23.0|68 37 24 V-1 vQ 100 48.0 28.0
24 V +2 &2 -170 41.0 350| 2 26 54DS-1 L JO) -100 34.0 42.0|75 30 3NV-1 &2 100 48.0 28.0
3v V+1 ¢ A -170 410 350| 5 23 54DN-1 &A -100 340 420|78 14 34 V-1 vQ 100 48.0 28.0
26 V +2 *6 -170 410 35.0(19 9 5vDN-1 SA -100 34.0 420(27 1 2¢ O= &T -90 38.0 38.0
24 O +2 +3 -170 41.0 35021 7 54DN-1 A -100 340 42062 43 2¢ O= &T -90 38.0 38.0
3NV = 2 -400 33.0 43.0(22 6 54DN-1 &A -100 340 420|73 32 INO= & K -90 38.0 38.0
3NV = aJ -400 33.0 43.0(|38 67 54DN-1 SA -100 34.0 42.0|11 17 24 V= vQ -110 26.0 50.0
3NV = &2 -400 33.0 43.0|40 65 54DN-1 &K -100 34.0 42.0|13 15 24 V= vQ -110 26.0 50.0
3NV = »6 -400 33.0 43.0|44 61 64 N-2 &A -100 34.0 42.0|36 69 24 V= 8 -110 26.0 50.0
44 O = »8 -420 21.0 55.0|52 53 54DS-1 SA -100 34.0 42.0|42 63 24 V= v9 -110 26.0 50.0
44 O = vA -420 21.0 55.0|73 32 54aDN-1 &K -100 34.0 42.0|52 53 24 V= vQ -110 26.0 50.0
44 O = vT -420 21.0 55.0|75 30 54DN-1 &A -100 34.0 42.0|57 48 24 V= vQ -110 26.0 50.0
44 O = vT -420 21.0 55.0|36 69 54 N-3 SA -150 21.0 55.0|58 47 24 V= a4 -110 26.0 50.0
44 O = +6 -420 21.0 55.0|62 43 4% O +1 vK -150 21.0 55.0|70 35 24 V= vQ -110 26.0 50.0
4v V= »6 -420 21.0 55.0|10 18 64D N-2 &A -300 15.0 61.0|76 29 24 V= vQ -110 26.0 50.0
44 O = +3 -420 21.0 55.0(34 71 64D N-2 SA -300 15.0 61.0| 2 26 34 V= 2 -140 12.0 64.0
44 O = a4 -420 21.0 55.0|45 60 64D N-2 A -300 15.0 61.0|19 9 24 V+1 a2 -140 12.0 64.0
3NV +1 ¢2 -430 10.0 66.0|77 28 64D N -2 A -300 15.0 61.0(22 6 24 V+1 ¢2 -140 12.0 64.0
3NV +1 3 -430 10.0 66.0(39 66 6vDS-3 *0Q -500 10.0 66.0|39 66 24 O +1 *6 -140 12.0 64.0
3N O +1 a4 -430 10.0 66.0 |57 48 5# O = a K -600 6.0 70.0|41 64 34 V= a3 -140 12.0 64.0
4v V +1 »6 -450 6.0 70.0|70 35 5# O = ¢ 7 -600 6.0 70.0|12 16 2v S-2 *A -200 6.0 70.0
44D O = +5 -590 4.0 72.0|78 14 54 0= vK -600 6.0 70.0|72 33 2v S-3 *A -300 4.0 72.0
44DO+1 ¥3 -690 10 75054 51 3NV +1 +Q -630 2.0 74.0|77 28 44 O= &3 -620 2.0 74.0
44DO+1 &4 -690 1.0 75.0|50 55 6# 0O = vK -1370 0.0 76.0(20 8 44 O+1 &T -650 0.0 76.0
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